
Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG - 

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.nz

Architect

W: 3dcad.co.nz
1001T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:100 C

Comment

SAMPLE
17/04/2023SAMPLE

Painting Specification

- Coating system must comply with.
- AS/NZS 2312.1:2014

Contract Holder to confirm all painting systems.
Refer ENG drawings for further information.

Holes in beams

- DRILL ALL HOLES IN SECTIONS BEFORE
ASSEMBLY.

Quality Control

- SinglePart Drawing to be signed off by fabricator of
part
- Assembly Drawing to be signed off that check has
complied before welding
- Assembly Drawing to be signed of that welding has
complied with engineers specifications.
- Workshop Checklist to be checked off once Assembly
complete
- Delivery Checklist to be checked off when Assemblies
have left workshop

Welding Notes

- All fillet welds 6mm all round U.N.O
- All welds to be SP class  (for structural purpose)

Straightening

- STRAIGHTEN SECTIONS BEFORE welding on items.
- All items to be straightened after welding completed

Welding Specification

- 100% visual scanning checking for quality and
completeness U.N.O.
- All welding must comply with engineers specifications

Labeling

- Compass heading for label orientation by fabricator
- CENTER MARK for plate/member to plate/member
connection orientation

IFC

FILLET WELD
(10mm)

FILLET BOTH SIDES SINGLE 'V' BUTT BEVEL BUTT WELD TYPE
ABBREVIATION

PLUG WELD SQUARE BUTT ADDITIONAL DATA
(FILLET WELD)

MISS 100mm
HIT 50mm

GRIND FLUSH
('V'-BUTT)

WELD ALL AROUND SITE WELDDOUBLE 'V' BUTT DOUBLE BEVEL BUTT

WELD SYMBOLS
ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

BOLTS

- All Bolts AS 1252 HSFG U.N.O
- Bolting must comply with NZS3403 (Clauses 15.2.3 to
15.2.5)

EPOXIED ANCHORS

- Where epoxied anchors are specified, Ramset Epcon
C8 XTREM or approved equivalent is to be used U.N.O
ensure anchors are installed to manufacturers
specifications, unless noted otherwise

IFA CHECKING

- 3CAD Limited drawings to be checked by engineer
and architect that connections & members comply with
engineers specifications and that dimensions comply
with architects dimensions.
- Fabrication to commence once both checks have
been completed.
- Assembly drawings to be checked if requested by
engineer, otherwise GA drawings & files will be
accepted.

@A1

THIRD ANGLE PROJECTION u.n.o

SAMPLE ONLY

STANDARD
ABBREVIATIONS

ALT
ARCH
BOS
BLG
C/C
CL
COS
CONC
CL
CRS
DIA
FFL
FPBW
FS
FWAR
GALV
GL
ID
MS
NS
NOM
NTS
O/A
OD
PC
RAD
RL
RD
STGD
SPEC
SS
TOS
TYP
U/S
UNO
WP

Alternating
Architect
Bottom of steel
Building
Centre to centre
Construction joint
Check on site
Concrete
Centre line
Centres
Diameter
Finished floor level
Full penetration butt weld
Far side
Fillet weld all round
Galvanised
Ground level
Inside diameter
Mild steel
Near side
Nominal
Not to scale
Overall
Outside diameter
Precast concrete
Radius
Reduced level
Running Dimension
Staggered
Specification
Stainless steel
Top of steel
Typical
Underside
Unless noted otherwise
Weld plate

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/
https://www.3dcad.co.nz/
AutoCAD SHX Text
  100   50  

AutoCAD SHX Text
  100   50  

AutoCAD SHX Text
DATA

AutoCAD SHX Text
DATA

AutoCAD SHX Text
 FPBB   



Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1002T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:100 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE1 3.58
STD METALCRAFT BRIDGE2 4.64
STD METALCRAFT BRIDGE3 3.59
STD METALCRAFT BRIDGE4 4.65
STD METALCRAFT BRIDGE5 3.58
STD METALCRAFT BRIDGE7 3.58
STD METALCRAFT BRIDGE8 3.58
STD METALCRAFT BRIDGE9 3.58
STD METALCRAFT BRIDGE10 3.58
STD METALCRAFT BRIDGE13 2.95
STD METALCRAFT BRIDGE14 3.59
STD METALCRAFT BRIDGE15 3.79
STD METALCRAFT BRIDGE16 1.70
STD METALCRAFT BRIDGE17 5.07
STD METALCRAFT BRIDGE18 5.73
STD METALCRAFT BRIDGE19 5.40
STD METALCRAFT BRIDGE20 1.82
STD METALCRAFT BRIDGE21 4.48
STD METALCRAFT BRIDGE22 2.70
STD METALCRAFT BRIDGE23 3.58
STD METALCRAFT BRIDGE24 2.96
STD METALCRAFT BRIDGE25 3.98
STD METALCRAFT BRIDGE26 1.68
STD METALCRAFT BRIDGE27 4.64
STD METALCRAFT BRIDGE29 2.88
STD METALCRAFT BRIDGE30 2.89
STD METALCRAFT BRIDGE31 3.59
STD METALCRAFT BRIDGE32 5.06
STD METALCRAFT BRIDGE33 5.72
STD METALCRAFT BRIDGE34 6.45
STD METALCRAFT BRIDGE41 2.96
STD METALCRAFT BRIDGE42 3.58
STD METALCRAFT BRIDGE43 3.58
STD METALCRAFT BRIDGE44 2.88
STD METALCRAFT BRIDGE45 1.70
STD METALCRAFT BRIDGE46 4.49
STD METALCRAFT BRIDGE47 1.74
STD METALCRAFT BRIDGE48 2.71
STD METALCRAFT BRIDGE49 3.59
STD METALCRAFT BRIDGE50 3.50
STD METALCRAFT BRIDGE51 5.06
STD METALCRAFT BRIDGE52 5.72
STD METALCRAFT BRIDGE53 5.39
STD METALCRAFT BRIDGE54 3.94

200x200x6.0 SHSB1 349.60
200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB6 348.89

300 PFCB7 747.98
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB9 238.37
200x200x6.0 SHSB10 232.76
200x200x6.0 SHSB11 237.15
200x200x6.0 SHSB12 240.60
200x200x6.0 SHSB13 350.27
200x200x6.0 SHSB14 240.39
200x200x6.0 SHSB15 345.39

250 PFCB17 263.66
250 PFCB18 293.70
250 PFCB20 219.30
250 PFCB21 318.67
300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

310 UB 46.2B26 402.80
310 UC 118B27 2118.89
410 UB 59.7B28 1174.21
460 UB 82.1B29 1345.31
460 UB 82.1B30 1341.52
460 UB 82.1B31 1344.28
460 UB 82.1B32 1580.19
460 UB 82.1B33 1597.20
460 UB 82.1B34 1597.20
460 UB 82.1B35 1640.34
460 UB 82.1B36 264.45
460 UB 82.1B37 1341.52

200x200x6.0 SHSB39 351.01
75x75x5.0 SHSC1 25.02
89x89x3.5 SHSC2 27.80

150x150x6.0 SHSC3 133.21
150x150x6.0 SHSC4 150.65
150x150x6.0 SHSC5 150.79

200 UB 22.3C6 130.87
200 UB 22.3C7 131.05

250 PFCC8 133.38
250 PFCC9 227.74
250 PFCC10 227.74
250 PFCC11 144.24
250 PFCC12 116.43
250 PFCC13 116.43

250 UB 31.4C14 211.74
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
250 UC 72.9C17 700.87
310 UC 96.8C18 1097.59
310 UC 96.8C19 1067.38
360 UB 56.7C20 723.18
410 UB 59.7C21 881.49
410 UB 59.7C22 891.01
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
530 UB 82.0C31 1009.33
530 UB 82.0C32 1017.83
530 UB 82.0C33 1004.89
530 UB 82.0C34 1013.39
MSS300/15G1 63.23
MSS200/15G2 29.45
MSS200/15G3 20.77
MSS200/15G4 12.01
MSS300/15G5 63.23
MSS200/15G6 12.14
MSS200/15G7 21.02
MSS250/18G8 56.73
MSS250/18G9 10.86
MSS250/18G10 5.89
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS250/18G13 57.61
MSS250/18G14 29.07
MSS250/18G15 55.29
MSS250/18G16 56.16
MSS250/18G17 16.22
MSS250/18G18 3.71
MSS250/18G19 42.14
MSS200/15G20 12.24
MSS200/15G21 1.91
MSS250/18G22 2.27
MSS300/15G23 27.76
MSS300/15G24 27.98
MSS200/15G25 29.45
MSS200/15G26 20.77
MSS200/15G27 12.00
MSS200/15G28 11.63
MSS200/15G29 30.52
MSS200/15G30 12.65
MSS200/15G31 14.09
MSS250/18G32 32.94
MSS250/18G33 59.02
MSS250/18G34 19.48
MSS250/18G35 57.47
MSS250/18G36 56.96
MSS250/18G37 10.24
MSS250/18G38 13.88
MSS300/15G39 16.46
MSS300/15G40 41.89
MSS200/15G41 21.01
MSS200/15G42 21.02
MSS200/15G43 21.02
MSS200/15G44 4.11
MSS200/15G45 12.25
MSS200/15G46 30.63
MSS200/15G47 30.51
MSS200/15G48 5.61
MSS200/15G49 5.56
MSS200/15G50 14.09
MSS250/18G51 57.60
MSS250/18G52 56.73
MSS250/18G53 23.25
MSS250/18G54 60.01
MSS250/18G55 60.01
MSS250/18G56 60.00
MSS250/18G57 23.35
MSS250/18G58 49.95
MSS250/18G59 37.47
MSS250/18G60 59.00
MSS250/18G61 59.00
MSS250/18G62 45.55
MSS250/18G63 14.01
MSS250/18G64 45.54
MSS250/18G65 45.55
MSS250/18G66 24.00
MSS250/18G67 50.01
MSS250/18G68 18.86
MSS250/18G69 52.36
MSS250/18G70 52.52
MSS250/18G71 52.52
MSS250/18G72 22.97
MSS250/18G73 55.28
MSS250/18G74 56.16
MSS250/18G75 49.96
MSS250/18G76 49.96
MSS250/18G77 59.02
MSS250/18G78 80.57
MSS250/18G79 81.15
MSS250/18G80 71.25
MSS250/18G81 80.64
MSS250/18G82 71.39
MSS250/18G83 57.47
MSS250/18G84 56.96
MSS250/18G85 16.00
MSS250/18G86 10.53
MSS250/18G87 18.98
MSS250/18G88 16.22
MSS250/18G89 50.01
MSS250/18G90 2.02
MSS250/18G91 16.66
MSS250/18G92 50.01
MSS250/18G93 50.01
MSS300/15G94 63.23
MSS300/15G96 63.23
MSS300/15G97 5.88
MSS300/15G98 41.89
MSS300/15G99 41.89
MSS300/15G100 58.02
MSS300/15G101 4.40
MSS300/18G102 12.69

42.4x3.2 CHSHD1 99.48
42.4x3.2 CHSHD2 140.51
MSS300/18P1 76.00
MSS200/18P2 35.37
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P7 63.22
MSS250/18P8 40.89
MSS200/18P9 35.38
MSS200/18P10 35.36
MSS200/18P11 35.37
MSS200/18P13 35.37
MSS250/18P14 42.92
MSS250/18P15 56.82
MSS250/18P16 54.03
MSS250/18P17 40.89
MSS250/18P18 58.28
MSS300/18P19 50.60

150x150x12 EAPA1 4.02
80 x 170    10 PLPL4 2.60

RB 20RB1 26.40
RB 20RB2 30.25
RB 25RB3 41.27
RB 20RB4 27.03
RB 20RB5 31.04
RB 20RB6 31.14
RB 25RB7 41.09
RB 25RB8 40.66

ReidBrace Set RB25RB9 0.00
RB 25RB10 40.90
RB 25RB11 39.17
RB 25RB12 40.71
RB 20RB13 26.83
RB 20RB14 31.10
RB 20RB15 31.31
RB 20RB16 30.99

ReidBrace Set RB20RB17 0.00
230 PFCSG1 595.18

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

3D PERSPECTIVE
MAIN PART NUMBER
SCALE: 1:100
SOUTH-WEST

C2

C2

B28

B36

B30

B31

B35

B33

B32

B34

B5

B2

B15

B2

B2

B1

B1

B1

B3

B3

B3

B39

B39

B39

C3

C4

C12

B21

C5

C13

C1

C1

C18

C26

C7

C21

C31

C27

C23

C22

C6

C29

C30

C24

C15

C25

C28

B20

C17

B1

B10

B1

B9

B17

B2

B5

B12
C10

B2

B11

C9

C16

B8

B13

B14

B6

B18

B1

C11

C19

B6 C8

C20B27

C14

B26

B7

B22

B23

B7

B24

B25

B29

C32

B20

C33

C34

B37

SG1

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1003T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:100 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE1 3.58
STD METALCRAFT BRIDGE2 4.64
STD METALCRAFT BRIDGE3 3.59
STD METALCRAFT BRIDGE4 4.65
STD METALCRAFT BRIDGE5 3.58
STD METALCRAFT BRIDGE7 3.58
STD METALCRAFT BRIDGE8 3.58
STD METALCRAFT BRIDGE9 3.58
STD METALCRAFT BRIDGE10 3.58
STD METALCRAFT BRIDGE13 2.95
STD METALCRAFT BRIDGE14 3.59
STD METALCRAFT BRIDGE15 3.79
STD METALCRAFT BRIDGE16 1.70
STD METALCRAFT BRIDGE17 5.07
STD METALCRAFT BRIDGE18 5.73
STD METALCRAFT BRIDGE19 5.40
STD METALCRAFT BRIDGE20 1.82
STD METALCRAFT BRIDGE21 4.48
STD METALCRAFT BRIDGE22 2.70
STD METALCRAFT BRIDGE23 3.58
STD METALCRAFT BRIDGE24 2.96
STD METALCRAFT BRIDGE25 3.98
STD METALCRAFT BRIDGE26 1.68
STD METALCRAFT BRIDGE27 4.64
STD METALCRAFT BRIDGE29 2.88
STD METALCRAFT BRIDGE30 2.89
STD METALCRAFT BRIDGE31 3.59
STD METALCRAFT BRIDGE32 5.06
STD METALCRAFT BRIDGE33 5.72
STD METALCRAFT BRIDGE34 6.45
STD METALCRAFT BRIDGE41 2.96
STD METALCRAFT BRIDGE42 3.58
STD METALCRAFT BRIDGE43 3.58
STD METALCRAFT BRIDGE44 2.88
STD METALCRAFT BRIDGE45 1.70
STD METALCRAFT BRIDGE46 4.49
STD METALCRAFT BRIDGE47 1.74
STD METALCRAFT BRIDGE48 2.71
STD METALCRAFT BRIDGE49 3.59
STD METALCRAFT BRIDGE50 3.50
STD METALCRAFT BRIDGE51 5.06
STD METALCRAFT BRIDGE52 5.72
STD METALCRAFT BRIDGE53 5.39
STD METALCRAFT BRIDGE54 3.94

200x200x6.0 SHSB1 349.60
200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB6 348.89

300 PFCB7 747.98
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB9 238.37
200x200x6.0 SHSB10 232.76
200x200x6.0 SHSB11 237.15
200x200x6.0 SHSB12 240.60
200x200x6.0 SHSB13 350.27
200x200x6.0 SHSB14 240.39
200x200x6.0 SHSB15 345.39

250 PFCB17 263.66
250 PFCB18 293.70
250 PFCB20 219.30
250 PFCB21 318.67
300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

310 UB 46.2B26 402.80
310 UC 118B27 2118.89
410 UB 59.7B28 1174.21
460 UB 82.1B29 1345.31
460 UB 82.1B30 1341.52
460 UB 82.1B31 1344.28
460 UB 82.1B32 1580.19
460 UB 82.1B33 1597.20
460 UB 82.1B34 1597.20
460 UB 82.1B35 1640.34
460 UB 82.1B36 264.45
460 UB 82.1B37 1341.52

200x200x6.0 SHSB39 351.01
75x75x5.0 SHSC1 25.02
89x89x3.5 SHSC2 27.80

150x150x6.0 SHSC3 133.21
150x150x6.0 SHSC4 150.65
150x150x6.0 SHSC5 150.79

200 UB 22.3C6 130.87
200 UB 22.3C7 131.05

250 PFCC8 133.38
250 PFCC9 227.74
250 PFCC10 227.74
250 PFCC11 144.24
250 PFCC12 116.43
250 PFCC13 116.43

250 UB 31.4C14 211.74
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
250 UC 72.9C17 700.87
310 UC 96.8C18 1097.59
310 UC 96.8C19 1067.38
360 UB 56.7C20 723.18
410 UB 59.7C21 881.49
410 UB 59.7C22 891.01
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
530 UB 82.0C31 1009.33
530 UB 82.0C32 1017.83
530 UB 82.0C33 1004.89
530 UB 82.0C34 1013.39
MSS300/15G1 63.23
MSS200/15G2 29.45
MSS200/15G3 20.77
MSS200/15G4 12.01
MSS300/15G5 63.23
MSS200/15G6 12.14
MSS200/15G7 21.02
MSS250/18G8 56.73
MSS250/18G9 10.86
MSS250/18G10 5.89
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS250/18G13 57.61
MSS250/18G14 29.07
MSS250/18G15 55.29
MSS250/18G16 56.16
MSS250/18G17 16.22
MSS250/18G18 3.71
MSS250/18G19 42.14
MSS200/15G20 12.24
MSS200/15G21 1.91
MSS250/18G22 2.27
MSS300/15G23 27.76
MSS300/15G24 27.98
MSS200/15G25 29.45
MSS200/15G26 20.77
MSS200/15G27 12.00
MSS200/15G28 11.63
MSS200/15G29 30.52
MSS200/15G30 12.65
MSS200/15G31 14.09
MSS250/18G32 32.94
MSS250/18G33 59.02
MSS250/18G34 19.48
MSS250/18G35 57.47
MSS250/18G36 56.96
MSS250/18G37 10.24
MSS250/18G38 13.88
MSS300/15G39 16.46
MSS300/15G40 41.89
MSS200/15G41 21.01
MSS200/15G42 21.02
MSS200/15G43 21.02
MSS200/15G44 4.11
MSS200/15G45 12.25
MSS200/15G46 30.63
MSS200/15G47 30.51
MSS200/15G48 5.61
MSS200/15G49 5.56
MSS200/15G50 14.09
MSS250/18G51 57.60
MSS250/18G52 56.73
MSS250/18G53 23.25
MSS250/18G54 60.01
MSS250/18G55 60.01
MSS250/18G56 60.00
MSS250/18G57 23.35
MSS250/18G58 49.95
MSS250/18G59 37.47
MSS250/18G60 59.00
MSS250/18G61 59.00
MSS250/18G62 45.55
MSS250/18G63 14.01
MSS250/18G64 45.54
MSS250/18G65 45.55
MSS250/18G66 24.00
MSS250/18G67 50.01
MSS250/18G68 18.86
MSS250/18G69 52.36
MSS250/18G70 52.52
MSS250/18G71 52.52
MSS250/18G72 22.97
MSS250/18G73 55.28
MSS250/18G74 56.16
MSS250/18G75 49.96
MSS250/18G76 49.96
MSS250/18G77 59.02
MSS250/18G78 80.57
MSS250/18G79 81.15
MSS250/18G80 71.25
MSS250/18G81 80.64
MSS250/18G82 71.39
MSS250/18G83 57.47
MSS250/18G84 56.96
MSS250/18G85 16.00
MSS250/18G86 10.53
MSS250/18G87 18.98
MSS250/18G88 16.22
MSS250/18G89 50.01
MSS250/18G90 2.02
MSS250/18G91 16.66
MSS250/18G92 50.01
MSS250/18G93 50.01
MSS300/15G94 63.23
MSS300/15G96 63.23
MSS300/15G97 5.88
MSS300/15G98 41.89
MSS300/15G99 41.89
MSS300/15G100 58.02
MSS300/15G101 4.40
MSS300/18G102 12.69

42.4x3.2 CHSHD1 99.48
42.4x3.2 CHSHD2 140.51
MSS300/18P1 76.00
MSS200/18P2 35.37
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P7 63.22
MSS250/18P8 40.89
MSS200/18P9 35.38
MSS200/18P10 35.36
MSS200/18P11 35.37
MSS200/18P13 35.37
MSS250/18P14 42.92
MSS250/18P15 56.82
MSS250/18P16 54.03
MSS250/18P17 40.89
MSS250/18P18 58.28
MSS300/18P19 50.60

150x150x12 EAPA1 4.02
80 x 170    10 PLPL4 2.60

RB 20RB1 26.40
RB 20RB2 30.25
RB 25RB3 41.27
RB 20RB4 27.03
RB 20RB5 31.04
RB 20RB6 31.14
RB 25RB7 41.09
RB 25RB8 40.66

ReidBrace Set RB25RB9 0.00
RB 25RB10 40.90
RB 25RB11 39.17
RB 25RB12 40.71
RB 20RB13 26.83
RB 20RB14 31.10
RB 20RB15 31.31
RB 20RB16 30.99

ReidBrace Set RB20RB17 0.00
230 PFCSG1 595.18

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

3D PERSPECTIVE
MAIN PART NUMBER
SCALE: 1:100
SOUTH-EAST

C2

C2

B28

B36

B30

B31

B35

B33

B32

B34

B5

B2

B15

B2

B2

B1

B1

B1

B3

B3

B3

B39

B39

B39

C3

C4

C12

B21

C5

C13

C1

C1

C18

C26

C7

C21

C31

C27

C23

C22

C6

C29

C30

C24

C15

C25

C28

B20

C17

B1

B10

B1

B9

B17

B2

B5

B12

C10

B2 B11

C9

C16

B8

B13

B14

B6

B18

B1

C11

C19

B6

C8

C20

B27

C14

B26

B7

B22

B23

B7

B24

B25

B29

C32

B20

C33 C34

B37

SG1

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1004T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:100 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE1 3.58
STD METALCRAFT BRIDGE2 4.64
STD METALCRAFT BRIDGE3 3.59
STD METALCRAFT BRIDGE4 4.65
STD METALCRAFT BRIDGE5 3.58
STD METALCRAFT BRIDGE7 3.58
STD METALCRAFT BRIDGE8 3.58
STD METALCRAFT BRIDGE9 3.58
STD METALCRAFT BRIDGE10 3.58
STD METALCRAFT BRIDGE13 2.95
STD METALCRAFT BRIDGE14 3.59
STD METALCRAFT BRIDGE15 3.79
STD METALCRAFT BRIDGE16 1.70
STD METALCRAFT BRIDGE17 5.07
STD METALCRAFT BRIDGE18 5.73
STD METALCRAFT BRIDGE19 5.40
STD METALCRAFT BRIDGE20 1.82
STD METALCRAFT BRIDGE21 4.48
STD METALCRAFT BRIDGE22 2.70
STD METALCRAFT BRIDGE23 3.58
STD METALCRAFT BRIDGE24 2.96
STD METALCRAFT BRIDGE25 3.98
STD METALCRAFT BRIDGE26 1.68
STD METALCRAFT BRIDGE27 4.64
STD METALCRAFT BRIDGE29 2.88
STD METALCRAFT BRIDGE30 2.89
STD METALCRAFT BRIDGE31 3.59
STD METALCRAFT BRIDGE32 5.06
STD METALCRAFT BRIDGE33 5.72
STD METALCRAFT BRIDGE34 6.45
STD METALCRAFT BRIDGE41 2.96
STD METALCRAFT BRIDGE42 3.58
STD METALCRAFT BRIDGE43 3.58
STD METALCRAFT BRIDGE44 2.88
STD METALCRAFT BRIDGE45 1.70
STD METALCRAFT BRIDGE46 4.49
STD METALCRAFT BRIDGE47 1.74
STD METALCRAFT BRIDGE48 2.71
STD METALCRAFT BRIDGE49 3.59
STD METALCRAFT BRIDGE50 3.50
STD METALCRAFT BRIDGE51 5.06
STD METALCRAFT BRIDGE52 5.72
STD METALCRAFT BRIDGE53 5.39
STD METALCRAFT BRIDGE54 3.94

200x200x6.0 SHSB1 349.60
200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB6 348.89

300 PFCB7 747.98
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB9 238.37
200x200x6.0 SHSB10 232.76
200x200x6.0 SHSB11 237.15
200x200x6.0 SHSB12 240.60
200x200x6.0 SHSB13 350.27
200x200x6.0 SHSB14 240.39
200x200x6.0 SHSB15 345.39

250 PFCB17 263.66
250 PFCB18 293.70
250 PFCB20 219.30
250 PFCB21 318.67
300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

310 UB 46.2B26 402.80
310 UC 118B27 2118.89
410 UB 59.7B28 1174.21
460 UB 82.1B29 1345.31
460 UB 82.1B30 1341.52
460 UB 82.1B31 1344.28
460 UB 82.1B32 1580.19
460 UB 82.1B33 1597.20
460 UB 82.1B34 1597.20
460 UB 82.1B35 1640.34
460 UB 82.1B36 264.45
460 UB 82.1B37 1341.52

200x200x6.0 SHSB39 351.01
75x75x5.0 SHSC1 25.02
89x89x3.5 SHSC2 27.80

150x150x6.0 SHSC3 133.21
150x150x6.0 SHSC4 150.65
150x150x6.0 SHSC5 150.79

200 UB 22.3C6 130.87
200 UB 22.3C7 131.05

250 PFCC8 133.38
250 PFCC9 227.74
250 PFCC10 227.74
250 PFCC11 144.24
250 PFCC12 116.43
250 PFCC13 116.43

250 UB 31.4C14 211.74
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
250 UC 72.9C17 700.87
310 UC 96.8C18 1097.59
310 UC 96.8C19 1067.38
360 UB 56.7C20 723.18
410 UB 59.7C21 881.49
410 UB 59.7C22 891.01
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
530 UB 82.0C31 1009.33
530 UB 82.0C32 1017.83
530 UB 82.0C33 1004.89
530 UB 82.0C34 1013.39
MSS300/15G1 63.23
MSS200/15G2 29.45
MSS200/15G3 20.77
MSS200/15G4 12.01
MSS300/15G5 63.23
MSS200/15G6 12.14
MSS200/15G7 21.02
MSS250/18G8 56.73
MSS250/18G9 10.86
MSS250/18G10 5.89
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS250/18G13 57.61
MSS250/18G14 29.07
MSS250/18G15 55.29
MSS250/18G16 56.16
MSS250/18G17 16.22
MSS250/18G18 3.71
MSS250/18G19 42.14
MSS200/15G20 12.24
MSS200/15G21 1.91
MSS250/18G22 2.27
MSS300/15G23 27.76
MSS300/15G24 27.98
MSS200/15G25 29.45
MSS200/15G26 20.77
MSS200/15G27 12.00
MSS200/15G28 11.63
MSS200/15G29 30.52
MSS200/15G30 12.65
MSS200/15G31 14.09
MSS250/18G32 32.94
MSS250/18G33 59.02
MSS250/18G34 19.48
MSS250/18G35 57.47
MSS250/18G36 56.96
MSS250/18G37 10.24
MSS250/18G38 13.88
MSS300/15G39 16.46
MSS300/15G40 41.89
MSS200/15G41 21.01
MSS200/15G42 21.02
MSS200/15G43 21.02
MSS200/15G44 4.11
MSS200/15G45 12.25
MSS200/15G46 30.63
MSS200/15G47 30.51
MSS200/15G48 5.61
MSS200/15G49 5.56
MSS200/15G50 14.09
MSS250/18G51 57.60
MSS250/18G52 56.73
MSS250/18G53 23.25
MSS250/18G54 60.01
MSS250/18G55 60.01
MSS250/18G56 60.00
MSS250/18G57 23.35
MSS250/18G58 49.95
MSS250/18G59 37.47
MSS250/18G60 59.00
MSS250/18G61 59.00
MSS250/18G62 45.55
MSS250/18G63 14.01
MSS250/18G64 45.54
MSS250/18G65 45.55
MSS250/18G66 24.00
MSS250/18G67 50.01
MSS250/18G68 18.86
MSS250/18G69 52.36
MSS250/18G70 52.52
MSS250/18G71 52.52
MSS250/18G72 22.97
MSS250/18G73 55.28
MSS250/18G74 56.16
MSS250/18G75 49.96
MSS250/18G76 49.96
MSS250/18G77 59.02
MSS250/18G78 80.57
MSS250/18G79 81.15
MSS250/18G80 71.25
MSS250/18G81 80.64
MSS250/18G82 71.39
MSS250/18G83 57.47
MSS250/18G84 56.96
MSS250/18G85 16.00
MSS250/18G86 10.53
MSS250/18G87 18.98
MSS250/18G88 16.22
MSS250/18G89 50.01
MSS250/18G90 2.02
MSS250/18G91 16.66
MSS250/18G92 50.01
MSS250/18G93 50.01
MSS300/15G94 63.23
MSS300/15G96 63.23
MSS300/15G97 5.88
MSS300/15G98 41.89
MSS300/15G99 41.89
MSS300/15G100 58.02
MSS300/15G101 4.40
MSS300/18G102 12.69

42.4x3.2 CHSHD1 99.48
42.4x3.2 CHSHD2 140.51
MSS300/18P1 76.00
MSS200/18P2 35.37
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P7 63.22
MSS250/18P8 40.89
MSS200/18P9 35.38
MSS200/18P10 35.36
MSS200/18P11 35.37
MSS200/18P13 35.37
MSS250/18P14 42.92
MSS250/18P15 56.82
MSS250/18P16 54.03
MSS250/18P17 40.89
MSS250/18P18 58.28
MSS300/18P19 50.60

150x150x12 EAPA1 4.02
80 x 170    10 PLPL4 2.60

RB 20RB1 26.40
RB 20RB2 30.25
RB 25RB3 41.27
RB 20RB4 27.03
RB 20RB5 31.04
RB 20RB6 31.14
RB 25RB7 41.09
RB 25RB8 40.66

ReidBrace Set RB25RB9 0.00
RB 25RB10 40.90
RB 25RB11 39.17
RB 25RB12 40.71
RB 20RB13 26.83
RB 20RB14 31.10
RB 20RB15 31.31
RB 20RB16 30.99

ReidBrace Set RB20RB17 0.00
230 PFCSG1 595.18

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

3D PERSPECTIVE
MAIN PART NUMBER
SCALE: 1:100
NORTH-EAST

C2

C2

B28

B36

B30

B31

B35

B33

B32

B34

B5

B2

B15

B2

B2

B1

B1

B1

B3

B3

B3

B39

B39

B39

C3

C4

C12

B21

C5

C13

C1

C1

C18

C26

C7

C21

C31

C27

C23

C22

C6

C29

C30

C24

C15

C25

C28

B20

C17

B1

B10

B1

B9

B17

B2

B5

B12

C10

B2

B11

C9

C16

B8

B13

B14

B6

B18

B1

C11

C19

B6

C8

C20

B27

C14

B26

B7

B22

B23

B7

B24

B25

B29

C32

B20

C33

C34

B37

SG1

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1005T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:100 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE1 3.58
STD METALCRAFT BRIDGE2 4.64
STD METALCRAFT BRIDGE3 3.59
STD METALCRAFT BRIDGE4 4.65
STD METALCRAFT BRIDGE5 3.58
STD METALCRAFT BRIDGE7 3.58
STD METALCRAFT BRIDGE8 3.58
STD METALCRAFT BRIDGE9 3.58
STD METALCRAFT BRIDGE10 3.58
STD METALCRAFT BRIDGE13 2.95
STD METALCRAFT BRIDGE14 3.59
STD METALCRAFT BRIDGE15 3.79
STD METALCRAFT BRIDGE16 1.70
STD METALCRAFT BRIDGE17 5.07
STD METALCRAFT BRIDGE18 5.73
STD METALCRAFT BRIDGE19 5.40
STD METALCRAFT BRIDGE20 1.82
STD METALCRAFT BRIDGE21 4.48
STD METALCRAFT BRIDGE22 2.70
STD METALCRAFT BRIDGE23 3.58
STD METALCRAFT BRIDGE24 2.96
STD METALCRAFT BRIDGE25 3.98
STD METALCRAFT BRIDGE26 1.68
STD METALCRAFT BRIDGE27 4.64
STD METALCRAFT BRIDGE29 2.88
STD METALCRAFT BRIDGE30 2.89
STD METALCRAFT BRIDGE31 3.59
STD METALCRAFT BRIDGE32 5.06
STD METALCRAFT BRIDGE33 5.72
STD METALCRAFT BRIDGE34 6.45
STD METALCRAFT BRIDGE41 2.96
STD METALCRAFT BRIDGE42 3.58
STD METALCRAFT BRIDGE43 3.58
STD METALCRAFT BRIDGE44 2.88
STD METALCRAFT BRIDGE45 1.70
STD METALCRAFT BRIDGE46 4.49
STD METALCRAFT BRIDGE47 1.74
STD METALCRAFT BRIDGE48 2.71
STD METALCRAFT BRIDGE49 3.59
STD METALCRAFT BRIDGE50 3.50
STD METALCRAFT BRIDGE51 5.06
STD METALCRAFT BRIDGE52 5.72
STD METALCRAFT BRIDGE53 5.39
STD METALCRAFT BRIDGE54 3.94

200x200x6.0 SHSB1 349.60
200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB6 348.89

300 PFCB7 747.98
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB9 238.37
200x200x6.0 SHSB10 232.76
200x200x6.0 SHSB11 237.15
200x200x6.0 SHSB12 240.60
200x200x6.0 SHSB13 350.27
200x200x6.0 SHSB14 240.39
200x200x6.0 SHSB15 345.39

250 PFCB17 263.66
250 PFCB18 293.70
250 PFCB20 219.30
250 PFCB21 318.67
300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

310 UB 46.2B26 402.80
310 UC 118B27 2118.89
410 UB 59.7B28 1174.21
460 UB 82.1B29 1345.31
460 UB 82.1B30 1341.52
460 UB 82.1B31 1344.28
460 UB 82.1B32 1580.19
460 UB 82.1B33 1597.20
460 UB 82.1B34 1597.20
460 UB 82.1B35 1640.34
460 UB 82.1B36 264.45
460 UB 82.1B37 1341.52

200x200x6.0 SHSB39 351.01
75x75x5.0 SHSC1 25.02
89x89x3.5 SHSC2 27.80

150x150x6.0 SHSC3 133.21
150x150x6.0 SHSC4 150.65
150x150x6.0 SHSC5 150.79

200 UB 22.3C6 130.87
200 UB 22.3C7 131.05

250 PFCC8 133.38
250 PFCC9 227.74
250 PFCC10 227.74
250 PFCC11 144.24
250 PFCC12 116.43
250 PFCC13 116.43

250 UB 31.4C14 211.74
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
250 UC 72.9C17 700.87
310 UC 96.8C18 1097.59
310 UC 96.8C19 1067.38
360 UB 56.7C20 723.18
410 UB 59.7C21 881.49
410 UB 59.7C22 891.01
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
530 UB 82.0C31 1009.33
530 UB 82.0C32 1017.83
530 UB 82.0C33 1004.89
530 UB 82.0C34 1013.39
MSS300/15G1 63.23
MSS200/15G2 29.45
MSS200/15G3 20.77
MSS200/15G4 12.01
MSS300/15G5 63.23
MSS200/15G6 12.14
MSS200/15G7 21.02
MSS250/18G8 56.73
MSS250/18G9 10.86
MSS250/18G10 5.89
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS250/18G13 57.61
MSS250/18G14 29.07
MSS250/18G15 55.29
MSS250/18G16 56.16
MSS250/18G17 16.22
MSS250/18G18 3.71
MSS250/18G19 42.14
MSS200/15G20 12.24
MSS200/15G21 1.91
MSS250/18G22 2.27
MSS300/15G23 27.76
MSS300/15G24 27.98
MSS200/15G25 29.45
MSS200/15G26 20.77
MSS200/15G27 12.00
MSS200/15G28 11.63
MSS200/15G29 30.52
MSS200/15G30 12.65
MSS200/15G31 14.09
MSS250/18G32 32.94
MSS250/18G33 59.02
MSS250/18G34 19.48
MSS250/18G35 57.47
MSS250/18G36 56.96
MSS250/18G37 10.24
MSS250/18G38 13.88
MSS300/15G39 16.46
MSS300/15G40 41.89
MSS200/15G41 21.01
MSS200/15G42 21.02
MSS200/15G43 21.02
MSS200/15G44 4.11
MSS200/15G45 12.25
MSS200/15G46 30.63
MSS200/15G47 30.51
MSS200/15G48 5.61
MSS200/15G49 5.56
MSS200/15G50 14.09
MSS250/18G51 57.60
MSS250/18G52 56.73
MSS250/18G53 23.25
MSS250/18G54 60.01
MSS250/18G55 60.01
MSS250/18G56 60.00
MSS250/18G57 23.35
MSS250/18G58 49.95
MSS250/18G59 37.47
MSS250/18G60 59.00
MSS250/18G61 59.00
MSS250/18G62 45.55
MSS250/18G63 14.01
MSS250/18G64 45.54
MSS250/18G65 45.55
MSS250/18G66 24.00
MSS250/18G67 50.01
MSS250/18G68 18.86
MSS250/18G69 52.36
MSS250/18G70 52.52
MSS250/18G71 52.52
MSS250/18G72 22.97
MSS250/18G73 55.28
MSS250/18G74 56.16
MSS250/18G75 49.96
MSS250/18G76 49.96
MSS250/18G77 59.02
MSS250/18G78 80.57
MSS250/18G79 81.15
MSS250/18G80 71.25
MSS250/18G81 80.64
MSS250/18G82 71.39
MSS250/18G83 57.47
MSS250/18G84 56.96
MSS250/18G85 16.00
MSS250/18G86 10.53
MSS250/18G87 18.98
MSS250/18G88 16.22
MSS250/18G89 50.01
MSS250/18G90 2.02
MSS250/18G91 16.66
MSS250/18G92 50.01
MSS250/18G93 50.01
MSS300/15G94 63.23
MSS300/15G96 63.23
MSS300/15G97 5.88
MSS300/15G98 41.89
MSS300/15G99 41.89
MSS300/15G100 58.02
MSS300/15G101 4.40
MSS300/18G102 12.69

42.4x3.2 CHSHD1 99.48
42.4x3.2 CHSHD2 140.51
MSS300/18P1 76.00
MSS200/18P2 35.37
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P7 63.22
MSS250/18P8 40.89
MSS200/18P9 35.38
MSS200/18P10 35.36
MSS200/18P11 35.37
MSS200/18P13 35.37
MSS250/18P14 42.92
MSS250/18P15 56.82
MSS250/18P16 54.03
MSS250/18P17 40.89
MSS250/18P18 58.28
MSS300/18P19 50.60

150x150x12 EAPA1 4.02
80 x 170    10 PLPL4 2.60

RB 20RB1 26.40
RB 20RB2 30.25
RB 25RB3 41.27
RB 20RB4 27.03
RB 20RB5 31.04
RB 20RB6 31.14
RB 25RB7 41.09
RB 25RB8 40.66

ReidBrace Set RB25RB9 0.00
RB 25RB10 40.90
RB 25RB11 39.17
RB 25RB12 40.71
RB 20RB13 26.83
RB 20RB14 31.10
RB 20RB15 31.31
RB 20RB16 30.99

ReidBrace Set RB20RB17 0.00
230 PFCSG1 595.18

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

3D PERSPECTIVE
MAIN PART NUMBER
SCALE: 1:100
NORTH-WEST

C2

C2

B28

B36

B30

B31

B35

B33

B32

B34

B5

B2

B15

B2

B2

B1

B1

B1

B3

B3

B3

B39

B39

B39

C3

C4

C12

B21

C5

C13

C1

C1

C18

C26

C7

C21

C31

C27

C23

C22

C6 C29

C30

C24

C15

C25

C28

B20

C17

B1

B10

B1

B9

B17

B2

B5

B12

C10

B2

B11

C9

C16

B8

B13

B14

B6

B18

B1

C11
C19

B6

C8

C20

B27

C14

B26

B7

B22

B23

B7

B24

B25

B29

C32

B20

C33

C34

B37

SG1

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


B

B

C

C

D

D

E

E

A

A

1 1

2 2

3 3

4 4

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1006T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:100 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE1 3.58
STD METALCRAFT BRIDGE2 4.64
STD METALCRAFT BRIDGE3 3.59
STD METALCRAFT BRIDGE4 4.65
STD METALCRAFT BRIDGE5 3.58
STD METALCRAFT BRIDGE7 3.58
STD METALCRAFT BRIDGE8 3.58
STD METALCRAFT BRIDGE9 3.58
STD METALCRAFT BRIDGE10 3.58
STD METALCRAFT BRIDGE13 2.95
STD METALCRAFT BRIDGE14 3.59
STD METALCRAFT BRIDGE15 3.79
STD METALCRAFT BRIDGE16 1.70
STD METALCRAFT BRIDGE17 5.07
STD METALCRAFT BRIDGE18 5.73
STD METALCRAFT BRIDGE19 5.40
STD METALCRAFT BRIDGE20 1.82
STD METALCRAFT BRIDGE21 4.48
STD METALCRAFT BRIDGE22 2.70
STD METALCRAFT BRIDGE23 3.58
STD METALCRAFT BRIDGE24 2.96
STD METALCRAFT BRIDGE25 3.98
STD METALCRAFT BRIDGE26 1.68
STD METALCRAFT BRIDGE27 4.64
STD METALCRAFT BRIDGE29 2.88
STD METALCRAFT BRIDGE30 2.89
STD METALCRAFT BRIDGE31 3.59
STD METALCRAFT BRIDGE32 5.06
STD METALCRAFT BRIDGE33 5.72
STD METALCRAFT BRIDGE34 6.45
STD METALCRAFT BRIDGE41 2.96
STD METALCRAFT BRIDGE42 3.58
STD METALCRAFT BRIDGE43 3.58
STD METALCRAFT BRIDGE44 2.88
STD METALCRAFT BRIDGE45 1.70
STD METALCRAFT BRIDGE46 4.49
STD METALCRAFT BRIDGE47 1.74
STD METALCRAFT BRIDGE48 2.71
STD METALCRAFT BRIDGE49 3.59
STD METALCRAFT BRIDGE50 3.50
STD METALCRAFT BRIDGE51 5.06
STD METALCRAFT BRIDGE52 5.72
STD METALCRAFT BRIDGE53 5.39
STD METALCRAFT BRIDGE54 3.94

200x200x6.0 SHSB1 349.60
200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB6 348.89

300 PFCB7 747.98
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB9 238.37
200x200x6.0 SHSB10 232.76
200x200x6.0 SHSB11 237.15
200x200x6.0 SHSB12 240.60
200x200x6.0 SHSB13 350.27
200x200x6.0 SHSB14 240.39
200x200x6.0 SHSB15 345.39

250 PFCB17 263.66
250 PFCB18 293.70
250 PFCB20 219.30
250 PFCB21 318.67
300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

310 UB 46.2B26 402.80
310 UC 118B27 2118.89
410 UB 59.7B28 1174.21
460 UB 82.1B29 1345.31
460 UB 82.1B30 1341.52
460 UB 82.1B31 1344.28
460 UB 82.1B32 1580.19
460 UB 82.1B33 1597.20
460 UB 82.1B34 1597.20
460 UB 82.1B35 1640.34
460 UB 82.1B36 264.45
460 UB 82.1B37 1341.52

200x200x6.0 SHSB39 351.01
75x75x5.0 SHSC1 25.02
89x89x3.5 SHSC2 27.80

150x150x6.0 SHSC3 133.21
150x150x6.0 SHSC4 150.65
150x150x6.0 SHSC5 150.79

200 UB 22.3C6 130.87
200 UB 22.3C7 131.05

250 PFCC8 133.38
250 PFCC9 227.74
250 PFCC10 227.74
250 PFCC11 144.24
250 PFCC12 116.43
250 PFCC13 116.43

250 UB 31.4C14 211.74
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
250 UC 72.9C17 700.87
310 UC 96.8C18 1097.59
310 UC 96.8C19 1067.38
360 UB 56.7C20 723.18
410 UB 59.7C21 881.49
410 UB 59.7C22 891.01
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
530 UB 82.0C31 1009.33
530 UB 82.0C32 1017.83
530 UB 82.0C33 1004.89
530 UB 82.0C34 1013.39
MSS300/15G1 63.23
MSS200/15G2 29.45
MSS200/15G3 20.77
MSS200/15G4 12.01
MSS300/15G5 63.23
MSS200/15G6 12.14
MSS200/15G7 21.02
MSS250/18G8 56.73
MSS250/18G9 10.86
MSS250/18G10 5.89
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS250/18G13 57.61
MSS250/18G14 29.07
MSS250/18G15 55.29
MSS250/18G16 56.16
MSS250/18G17 16.22
MSS250/18G18 3.71
MSS250/18G19 42.14
MSS200/15G20 12.24
MSS200/15G21 1.91
MSS250/18G22 2.27
MSS300/15G23 27.76
MSS300/15G24 27.98
MSS200/15G25 29.45
MSS200/15G26 20.77
MSS200/15G27 12.00
MSS200/15G28 11.63
MSS200/15G29 30.52
MSS200/15G30 12.65
MSS200/15G31 14.09
MSS250/18G32 32.94
MSS250/18G33 59.02
MSS250/18G34 19.48
MSS250/18G35 57.47
MSS250/18G36 56.96
MSS250/18G37 10.24
MSS250/18G38 13.88
MSS300/15G39 16.46
MSS300/15G40 41.89
MSS200/15G41 21.01
MSS200/15G42 21.02
MSS200/15G43 21.02
MSS200/15G44 4.11
MSS200/15G45 12.25
MSS200/15G46 30.63
MSS200/15G47 30.51
MSS200/15G48 5.61
MSS200/15G49 5.56
MSS200/15G50 14.09
MSS250/18G51 57.60
MSS250/18G52 56.73
MSS250/18G53 23.25
MSS250/18G54 60.01
MSS250/18G55 60.01
MSS250/18G56 60.00
MSS250/18G57 23.35
MSS250/18G58 49.95
MSS250/18G59 37.47
MSS250/18G60 59.00
MSS250/18G61 59.00
MSS250/18G62 45.55
MSS250/18G63 14.01
MSS250/18G64 45.54
MSS250/18G65 45.55
MSS250/18G66 24.00
MSS250/18G67 50.01
MSS250/18G68 18.86
MSS250/18G69 52.36
MSS250/18G70 52.52
MSS250/18G71 52.52
MSS250/18G72 22.97
MSS250/18G73 55.28
MSS250/18G74 56.16
MSS250/18G75 49.96
MSS250/18G76 49.96
MSS250/18G77 59.02
MSS250/18G78 80.57
MSS250/18G79 81.15
MSS250/18G80 71.25
MSS250/18G81 80.64
MSS250/18G82 71.39
MSS250/18G83 57.47
MSS250/18G84 56.96
MSS250/18G85 16.00
MSS250/18G86 10.53
MSS250/18G87 18.98
MSS250/18G88 16.22
MSS250/18G89 50.01
MSS250/18G90 2.02
MSS250/18G91 16.66
MSS250/18G92 50.01
MSS250/18G93 50.01
MSS300/15G94 63.23
MSS300/15G96 63.23
MSS300/15G97 5.88
MSS300/15G98 41.89
MSS300/15G99 41.89
MSS300/15G100 58.02
MSS300/15G101 4.40
MSS300/18G102 12.69

42.4x3.2 CHSHD1 99.48
42.4x3.2 CHSHD2 140.51
MSS300/18P1 76.00
MSS200/18P2 35.37
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P7 63.22
MSS250/18P8 40.89
MSS200/18P9 35.38
MSS200/18P10 35.36
MSS200/18P11 35.37
MSS200/18P13 35.37
MSS250/18P14 42.92
MSS250/18P15 56.82
MSS250/18P16 54.03
MSS250/18P17 40.89
MSS250/18P18 58.28
MSS300/18P19 50.60

150x150x12 EAPA1 4.02
80 x 170    10 PLPL4 2.60

RB 20RB1 26.40
RB 20RB2 30.25
RB 25RB3 41.27
RB 20RB4 27.03
RB 20RB5 31.04
RB 20RB6 31.14
RB 25RB7 41.09
RB 25RB8 40.66

ReidBrace Set RB25RB9 0.00
RB 25RB10 40.90
RB 25RB11 39.17
RB 25RB12 40.71
RB 20RB13 26.83
RB 20RB14 31.10
RB 20RB15 31.31
RB 20RB16 30.99

ReidBrace Set RB20RB17 0.00
230 PFCSG1 595.18

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICALPLAN VIEW
MAIN PART NUMBER & GRIDLINES
SCALE: 1:100

B21

4x PA1

C1

B5

C2

C2

B2

B2B15B2

B1 B1B1

B3 B3 B3

B39 B39B39

4x PA1 4x PA1

C5C4

4x PA1C7

C31

C21

C30C23 C29

C25C27

C16

C24
C22

C26

C18

C28

C15

C6

B17

B1B1

B5

B1

B10

C17

C19

B13 B14

B20

B2

B6

B18

B2

C20

B9

B8

B6

B11

B12

C14

B27

B7

B7B24

B26

C32

B20

B23B22

B25

C33

C34

B29

B28

B31

B35

B36

B30

B33B34 B32

B37

SG1

9665 9665 9665 6500

12
00

0
90

00
18

00
0

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


4 4

3 3

2 2

1 1

A

A

E

E

D

D

C

C

B

B

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1007T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:100 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE13 2.95
STD METALCRAFT BRIDGE29 2.88
STD METALCRAFT BRIDGE30 2.89
STD METALCRAFT BRIDGE41 2.96
STD METALCRAFT BRIDGE44 2.88

75x75x5.0 SHSC1 25.02
250 PFCC8 133.38
250 PFCC9 227.74
250 PFCC10 227.74
250 PFCC11 144.24
250 PFCC12 116.43
250 PFCC13 116.43

310 UC 96.8C18 1097.59
310 UC 96.8C19 1067.38
360 UB 56.7C20 723.18
410 UB 59.7C21 881.49
410 UB 59.7C22 891.01
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
530 UB 82.0C31 1009.33
530 UB 82.0C32 1017.83
530 UB 82.0C33 1004.89
530 UB 82.0C34 1013.39
MSS300/15G1 63.23
MSS200/15G4 12.01
MSS300/15G5 63.23
MSS200/15G6 12.14
MSS250/18G10 5.89
MSS250/18G14 29.07
MSS250/18G18 3.71
MSS200/15G21 1.91
MSS300/15G23 27.76
MSS300/15G24 27.98
MSS200/15G25 29.45
MSS200/15G26 20.77
MSS200/15G28 11.63
MSS300/15G39 16.46
MSS200/15G50 14.09
MSS250/18G52 56.73
MSS250/18G78 80.57
MSS250/18G79 81.15
MSS250/18G80 71.25
MSS250/18G81 80.64
MSS250/18G82 71.39

42.4x3.2 CHSHD1 99.48
42.4x3.2 CHSHD2 140.51

150x150x12 EAPA1 4.02
RB 25RB3 41.27

ReidBrace Set RB25RB9 0.00
RB 25RB11 39.17

230 PFCSG1 595.18

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICALBASEPLATE LAYOUT
COLUMN CENTERS & MAIN PART NUMBER 
SCALE: 1:100
GROUND LEVEL

PA1

C12

C13

C1

C1

C24

C26

C18

C31

C28

C22C29C30

C25C27

C23

C21

C9

C19

C8

C20

C10

C11

C33

C34 C32

SG1

27
0

47
95

64
09

52
6

55
38

32
33

22
9

17
73

0
27

0

169

27
0

11
73

0169

17
73

0
27

0

36

175

58

29

29

84

58

24
3

48
22

64
09

52
695

5
31

90
45

32
32

31
17

4
62

91
28

8
28

93
43

8
62

91
35

527
0

27
0

11
73

0

27
0

11
73

0

17
73

0
27

0

175

36

925 393

9665 9665 9665

29

29

9665 9665 9665 6500

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


4 4

3 3

2 2

1 1

A

A

E

E

D

D

C

C

B

B

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1008T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:100 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE1 3.58
STD METALCRAFT BRIDGE2 4.64
STD METALCRAFT BRIDGE3 3.59
STD METALCRAFT BRIDGE4 4.65
STD METALCRAFT BRIDGE5 3.58
STD METALCRAFT BRIDGE8 3.58
STD METALCRAFT BRIDGE9 3.58
STD METALCRAFT BRIDGE10 3.58
STD METALCRAFT BRIDGE14 3.59
STD METALCRAFT BRIDGE15 3.79
STD METALCRAFT BRIDGE16 1.70
STD METALCRAFT BRIDGE17 5.07
STD METALCRAFT BRIDGE18 5.73
STD METALCRAFT BRIDGE20 1.82
STD METALCRAFT BRIDGE21 4.48
STD METALCRAFT BRIDGE22 2.70
STD METALCRAFT BRIDGE23 3.58
STD METALCRAFT BRIDGE24 2.96
STD METALCRAFT BRIDGE25 3.98
STD METALCRAFT BRIDGE26 1.68
STD METALCRAFT BRIDGE27 4.64
STD METALCRAFT BRIDGE31 3.59
STD METALCRAFT BRIDGE32 5.06
STD METALCRAFT BRIDGE33 5.72
STD METALCRAFT BRIDGE43 3.58
STD METALCRAFT BRIDGE45 1.70
STD METALCRAFT BRIDGE46 4.49
STD METALCRAFT BRIDGE47 1.74
STD METALCRAFT BRIDGE48 2.71
STD METALCRAFT BRIDGE49 3.59
STD METALCRAFT BRIDGE50 3.50
STD METALCRAFT BRIDGE51 5.06
STD METALCRAFT BRIDGE52 5.72

200x200x6.0 SHSB1 349.60
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB6 348.89
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB9 238.37
200x200x6.0 SHSB10 232.76
200x200x6.0 SHSB11 237.15
200x200x6.0 SHSB12 240.60
200x200x6.0 SHSB13 350.27
200x200x6.0 SHSB14 240.39
200x200x6.0 SHSB15 345.39

250 PFCB20 219.30
410 UB 59.7B28 1174.21
460 UB 82.1B29 1345.31
460 UB 82.1B30 1341.52
460 UB 82.1B31 1344.28
460 UB 82.1B32 1580.19
460 UB 82.1B33 1597.20
460 UB 82.1B34 1597.20
460 UB 82.1B35 1640.34
460 UB 82.1B36 264.45
460 UB 82.1B37 1341.52

200x200x6.0 SHSB39 351.01
150x150x6.0 SHSC3 133.21
150x150x6.0 SHSC4 150.65
150x150x6.0 SHSC5 150.79

200 UB 22.3C6 130.87
200 UB 22.3C7 131.05
250 UB 31.4C14 211.74
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
250 UC 72.9C17 700.87
310 UC 96.8C18 1097.59
310 UC 96.8C19 1067.38
360 UB 56.7C20 723.18
410 UB 59.7C21 881.49
410 UB 59.7C22 891.01
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
530 UB 82.0C31 1009.33
530 UB 82.0C32 1017.83
530 UB 82.0C33 1004.89
530 UB 82.0C34 1013.39
MSS300/15G1 63.23
MSS200/15G2 29.45
MSS200/15G3 20.77
MSS200/15G4 12.01
MSS300/15G5 63.23
MSS200/15G7 21.02
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS250/18G13 57.61
MSS250/18G16 56.16
MSS250/18G19 42.14
MSS200/15G20 12.24
MSS200/15G25 29.45
MSS200/15G26 20.77
MSS200/15G29 30.52
MSS200/15G30 12.65
MSS250/18G35 57.47
MSS250/18G36 56.96
MSS300/15G40 41.89
MSS200/15G43 21.02
MSS200/15G45 12.25
MSS200/15G47 30.51
MSS250/18G51 57.60
MSS250/18G53 23.25
MSS250/18G54 60.01
MSS250/18G59 37.47
MSS250/18G66 24.00
MSS250/18G71 52.52
MSS250/18G72 22.97
MSS250/18G74 56.16
MSS250/18G78 80.57
MSS250/18G79 81.15
MSS250/18G80 71.25
MSS250/18G81 80.64
MSS250/18G82 71.39
MSS250/18G83 57.47
MSS250/18G84 56.96
MSS300/15G98 41.89
MSS300/18P1 76.00
MSS200/18P2 35.37
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P7 63.22
MSS250/18P8 40.89
MSS200/18P9 35.38
MSS200/18P10 35.36
MSS200/18P11 35.37
MSS200/18P13 35.37
MSS250/18P14 42.92
MSS250/18P15 56.82
MSS250/18P16 54.03
MSS250/18P17 40.89
MSS250/18P18 58.28
MSS300/18P19 50.60

RB 20RB1 26.40
RB 20RB2 30.25
RB 20RB4 27.03
RB 20RB5 31.04
RB 20RB6 31.14
RB 25RB7 41.09
RB 25RB8 40.66

ReidBrace Set RB25RB9 0.00
RB 25RB10 40.90
RB 25RB12 40.71
RB 20RB13 26.83
RB 20RB14 31.10
RB 20RB15 31.31
RB 20RB16 30.99

ReidBrace Set RB20RB17 0.00

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICALPLAN VIEW
PURLINS, BRIDGING & GRIDLINES
SCALE: 1:100

P8
P8

P1
8

P7

P13P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1P1

P1

P1

P1

P1

P1

P3

P1

P1

P1

P1

P1

P1

P3

P1

P1

P1

P1

P1

P3

P1

P1

P1

P1

P3

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P2

P2

P2

P6

P3

P1

P1

P1

P3

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1
P3

P1

P1

P2

P11

P2

P2

P2

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P1

P3

P1

P1

P1

P1

P1

P1

P1

P2

P2

P2

P2

P2

P10

P2

P6

P2

P2

P2

P2

P10

P2

P1

P1

P1

P5

P9P4

P1

P4

P4

P6
P5P4

P3

P6

P4

P14

P1

P6

P9

P5

P4

P6

P5

P1

P19

P1

P1

P1

P5 P5

P1
5

23
1

1
24

2
2

2
2

2
2

16
27

1
2

2
20

2
21

2
2

2
2

2
2

2
22

2
26 15

2
2

2
1

2
2

1
2

25
2

31
45

48
4

23
1

4
47

24

31
50

4
4

4
4

4
4

4
4

46
49

4
4

4

2
16

1

15

2

2

20
2

2

2
24

2
2

2
27

2
2

2
2

2
1

26

23
2

26
2

2
2

2
2

2
2

2

27
1

2

22

2
2

2

1
2

2
21

2

2
21

2
2

2

20
1

25

2

22

2

16
2

2
15

2
2

2
1

2
1

2
1

1
2

2
2

2
25

2

P7
P7

P1
6

P8
P1

7

P3P3 P3

9665 9665 9665 6500

12
00

0
90

00
18

00
0

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


4 4

3 3

2 2

1 1

A

A

E

E

D

D

C

C

B

B

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1009T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:100 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE1 3.58
STD METALCRAFT BRIDGE2 4.64
STD METALCRAFT BRIDGE3 3.59
STD METALCRAFT BRIDGE4 4.65
STD METALCRAFT BRIDGE5 3.58
STD METALCRAFT BRIDGE8 3.58
STD METALCRAFT BRIDGE9 3.58
STD METALCRAFT BRIDGE10 3.58
STD METALCRAFT BRIDGE14 3.59
STD METALCRAFT BRIDGE15 3.79
STD METALCRAFT BRIDGE16 1.70
STD METALCRAFT BRIDGE17 5.07
STD METALCRAFT BRIDGE18 5.73
STD METALCRAFT BRIDGE20 1.82
STD METALCRAFT BRIDGE21 4.48
STD METALCRAFT BRIDGE22 2.70
STD METALCRAFT BRIDGE23 3.58
STD METALCRAFT BRIDGE24 2.96
STD METALCRAFT BRIDGE25 3.98
STD METALCRAFT BRIDGE26 1.68
STD METALCRAFT BRIDGE27 4.64
STD METALCRAFT BRIDGE31 3.59
STD METALCRAFT BRIDGE32 5.06
STD METALCRAFT BRIDGE33 5.72
STD METALCRAFT BRIDGE43 3.58
STD METALCRAFT BRIDGE45 1.70
STD METALCRAFT BRIDGE46 4.49
STD METALCRAFT BRIDGE47 1.74
STD METALCRAFT BRIDGE48 2.71
STD METALCRAFT BRIDGE49 3.59
STD METALCRAFT BRIDGE50 3.50
STD METALCRAFT BRIDGE51 5.06
STD METALCRAFT BRIDGE52 5.72

200x200x6.0 SHSB1 349.60
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB6 348.89
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB9 238.37
200x200x6.0 SHSB10 232.76
200x200x6.0 SHSB11 237.15
200x200x6.0 SHSB12 240.60
200x200x6.0 SHSB13 350.27
200x200x6.0 SHSB14 240.39
200x200x6.0 SHSB15 345.39

250 PFCB20 219.30
410 UB 59.7B28 1174.21
460 UB 82.1B29 1345.31
460 UB 82.1B30 1341.52
460 UB 82.1B31 1344.28
460 UB 82.1B32 1580.19
460 UB 82.1B33 1597.20
460 UB 82.1B34 1597.20
460 UB 82.1B35 1640.34
460 UB 82.1B36 264.45
460 UB 82.1B37 1341.52

200x200x6.0 SHSB39 351.01
150x150x6.0 SHSC3 133.21
150x150x6.0 SHSC4 150.65
150x150x6.0 SHSC5 150.79

200 UB 22.3C6 130.87
200 UB 22.3C7 131.05
250 UB 31.4C14 211.74
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
250 UC 72.9C17 700.87
310 UC 96.8C18 1097.59
310 UC 96.8C19 1067.38
360 UB 56.7C20 723.18
410 UB 59.7C21 881.49
410 UB 59.7C22 891.01
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
530 UB 82.0C31 1009.33
530 UB 82.0C32 1017.83
530 UB 82.0C33 1004.89
530 UB 82.0C34 1013.39
MSS300/15G1 63.23
MSS200/15G2 29.45
MSS200/15G3 20.77
MSS200/15G4 12.01
MSS300/15G5 63.23
MSS200/15G7 21.02
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS250/18G13 57.61
MSS250/18G16 56.16
MSS250/18G19 42.14
MSS200/15G20 12.24
MSS200/15G25 29.45
MSS200/15G26 20.77
MSS200/15G29 30.52
MSS200/15G30 12.65
MSS250/18G35 57.47
MSS250/18G36 56.96
MSS300/15G40 41.89
MSS200/15G43 21.02
MSS200/15G45 12.25
MSS200/15G47 30.51
MSS250/18G51 57.60
MSS250/18G53 23.25
MSS250/18G54 60.01
MSS250/18G59 37.47
MSS250/18G66 24.00
MSS250/18G71 52.52
MSS250/18G72 22.97
MSS250/18G74 56.16
MSS250/18G78 80.57
MSS250/18G79 81.15
MSS250/18G80 71.25
MSS250/18G81 80.64
MSS250/18G82 71.39
MSS250/18G83 57.47
MSS250/18G84 56.96
MSS300/15G98 41.89
MSS300/18P1 76.00
MSS200/18P2 35.37
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P7 63.22
MSS250/18P8 40.89
MSS200/18P9 35.38
MSS200/18P10 35.36
MSS200/18P11 35.37
MSS200/18P13 35.37
MSS250/18P14 42.92
MSS250/18P15 56.82
MSS250/18P16 54.03
MSS250/18P17 40.89
MSS250/18P18 58.28
MSS300/18P19 50.60

RB 20RB1 26.40
RB 20RB2 30.25
RB 20RB4 27.03
RB 20RB5 31.04
RB 20RB6 31.14
RB 25RB7 41.09
RB 25RB8 40.66

ReidBrace Set RB25RB9 0.00
RB 25RB10 40.90
RB 25RB12 40.71
RB 20RB13 26.83
RB 20RB14 31.10
RB 20RB15 31.31
RB 20RB16 30.99

ReidBrace Set RB20RB17 0.00

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICALPLAN VIEW
REID BRACING & GRIDLINES
SCALE: 1:100

RB 20CUT - 12611

RB 20CUT - 10706

RB 20CUT - 12585

RB 20CUT - 10706

RB 20

CUT - 1
2267

RB 20CUT - 12267

RB 20CUT - 12629

RB 20CUT - 10881

RB 20

CUT - 1
26

29

RB 20

CUT - 1
26

98

RB 20

CUT - 1
0706

RB 20CUT - 10959

RB 20

CUT - 1
25

85

RB 20

CUT - 1
25

85

RB 20

CUT - 1
0959

RB 20CUT - 12565

RB 20

CUT - 1
2266

RB 20CUT - 12266

RB 20

CUT - 1
0959

RB 20

CUT - 1
0706

12
00

0
90

00
18

00
0

9665 9665 9665 6500

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


4

4

4 4

D

D

4 4

C

C

4 4

A

A

4 4

B

B

A DCB

E

E

E

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1010T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:10,1:7.5 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
250 PFCC9 227.74

410 UB 59.7C21 881.49
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
MSS300/15G1 63.23
MSS300/15G5 63.23
MSS200/15G6 12.14
MSS250/18G14 29.07
MSS300/15G23 27.76
MSS300/15G24 27.98
MSS250/18G79 81.15
MSS250/18G80 71.25
MSS250/18G82 71.39

ReidBrace Set RB25RB9 0.00
RB 25RB11 39.17

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

CAST IN DETAIL
SCALE: 1:10

CAST IN DETAIL
SCALE: 1:10

CAST IN DETAIL
SCALE: 1:10

CAST IN DETAIL
SCALE: 1:10

DETAIL: TYPICAL FINGER BEAM 
WELD TYPE, BOLT TYPE
SCALE: 1:7.5

CAST IN DETAIL
SCALE: 1:10

C21

Exsiting
410 UB 59.7

M20x55

50

C21

PL1

M20x55

12 5

C27

Exsiting
460 UB 82.1

M20x55

50
C26

Exsiting
460 UB 82.1

M20x55

50

C25

Exsiting
460 UB 82.1

M20x55

50

C28

Exsiting
460 UB 82.1

M20x55

+0

50

C27

PL1

M20x55

12 5

27
0

C28

PL1

M20x55

12 5

27
0

C26

PL1

M20x55 27
0

12 5

C25

PL1

M20x55

12 5

27
0

460 UB 82.1

PL1

M20x55
8.8

460 UB 82.1
CAST IN FINGER BEAMS

271 x 540.4    20 PL
CAST IN WELD PLATE

40

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


1 1

A

A

1 1

D

D

1 1

C

C

1 1

B

B

DCBA

1 1

E

E

E

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC
D 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1011T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:10 D

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
410 UB 59.7C22 891.01
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
MSS300/15G5 63.23
MSS200/15G21 1.91
MSS200/15G25 29.45
MSS200/15G26 20.77
MSS250/18G78 80.57
MSS250/18G81 80.64

RB 25RB3 41.27
ReidBrace Set RB25RB9 0.00

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

CAST IN DETAIL
SCALE: 1:10

CAST IN DETAIL
SCALE: 1:10

CAST IN DETAIL
SCALE: 1:10

CAST IN DETAIL
SCALE: 1:10

CAST IN DETAIL
SCALE: 1:10

C22

Exsiting
410 UB 59.7

M20x55

50

C22

PL1

M20x55

24
3

12 5

C24

Exsiting
460 UB 82.1

M20x55

+0

50

C23

Exsiting
460 UB 82.1

M20x55

50

C30

Exsiting
460 UB 82.1

M20x55

50

C29

Exsiting
460 UB 82.1

M20x55

50

C23

PL1

M20x55

12 5

27
0

C30

PL1

M20x55

27
0

12 5

C29

PL1

M20x55

27
0

12 5

C24

PL1

M20x55

27
0

12 5

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


A

A

E

E

E

E

A

A

A

A

E EA AA

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1012T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:7.5 C

Comment
SAMPLE

17/04/2023SAMPLE

MainPart of AssemblyMark ASM Weight
75x75x5.0 SHSC1 25.02

360 UB 56.7C20 723.18
530 UB 82.0C31 1009.33
530 UB 82.0C32 1017.83
530 UB 82.0C33 1004.89
530 UB 82.0C34 1013.39
MSS250/18G52 56.73

230 PFCSG1 595.18

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

75x75x5.0 SHS - C1

EPCON C8
x2 M12x170
MIN EMBED
130

USBP: 0.01

10
D

R
Y 

PA
C

K

40
PR

O
J.

13
0

EM
BE

D
.

USBP: 0.02

EPCON C8
x4 M16x310
MIN EMBED
250

360 UB 56.7 - C20
84

20
D

R
Y 

PA
C

K

55
PR

O
J.

25
5

EM
BE

D
.

USBP: 0.02

EPCON C8
x4 M16x305
MIN EMBED
250

530 UB 82.0 - C34

20
D

R
Y 

PA
C

K

55
PR

O
J.

25
0

EM
BE

D
.

169

EPCON C8
x4 M16x305
MIN EMBED
250

USBP: 0.02

530 UB 82.0 - C33

55
PR

O
J.

169

20
D

R
Y 

PA
C

K

25
0

EM
BE

D
.

EPCON C8
x4 M16x305
MIN EMBED
250

USBP: 0.02

530 UB 82.0 - C31

20
D

R
Y 

PA
C

K

55
PR

O
J.

25
0

EM
BE

D
.

175

EPCON C8
x4 M16x305
MIN EMBED
250

USBP: 0.02

530 UB 82.0 - C32
175

20
D

R
Y 

PA
C

K

55
PR

O
J.

25
0

EM
BE

D
.

F1085  219 x 538.2    10 PL

C34
70

70
44 125 125

F1085  219 x 538.2    10 PL

C33

70
70

44 125 125

F1085  219 x 538.2    10 PL

C31

70
70

125 125 50

F1085  219 x 538.2    10 PL

C32

70
70

125 125 50

230 PFC

USBP: 0.01

EPCON C8
x3 M12x160
MIN EMBED

10
D

R
Y 

PA
C

K

40
PR

O
J.

12
0

EM
BE

D
.

230 PFC

USBP: 0.01

EPCON C8
x3 M12x160
MIN EMBED

10
D

R
Y 

PA
C

K

40
PR

O
J.

12
0

EM
BE

D
.

SG1

F1113  165 x 400.2    10 PL

13
0

13
0

47

SG1

F1113  165 x 400.2    10 PL

47

13
0

13
0

F1141  200 x 400    10 PL

C20

50
50

34
50

50

95
95

C1

F1129  90 x 250    10 PL

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


D

D

D

D

D

D

D

D

E

E

E

E

D
DD

D EE

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1013T.B.C

Biomass

BSW17/04/2023

15/01/2023

1:7.5 C

Comment
SAMPLE

17/04/2023SAMPLE

MainPart of AssemblyMark ASM Weight
250 PFCC8 133.38
250 PFCC9 227.74
250 PFCC10 227.74
250 PFCC11 144.24
250 PFCC12 116.43
250 PFCC13 116.43

310 UC 96.8C18 1097.59
310 UC 96.8C19 1067.38
460 UB 82.1C25 1133.56

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5ANCHOR DETAIL

SCALE: 1:7.5
ANCHOR DETAIL
SCALE: 1:7.5

USBP: 0.02

EPCON C8
x2 M16x255
MIN EMBED
200

250 PFC - C13

20
D

R
Y 

PA
C

K

55
PR

O
J.

36

20
0

EM
BE

D
.

USBP: 0.02

EPCON C8
x2 M16x255
MIN EMBED
200

250 PFC - C12 36

20
D

R
Y 

PA
C

K

55
PR

O
J.

20
0

EM
BE

D
.

USBP: 0.02

EPCON C8
x2 M16x255
MIN EMBED
200

250 PFC - C11

20
D

R
Y 

PA
C

K

55
PR

O
J.

96
20

0
EM

BE
D

.

USBP: 0.02

EPCON C8
x2 M16x255
MIN EMBED
200

EPCON C8
x4 M16x305
MIN EMBED
250

310 UC 96.8 - C18 250 PFC - C8

55
PR

O
J.

25
0

EM
BE

D
.

20
0

EM
BE

D
   

  .

29 29

20
D

R
Y 

PA
C

K

EPCON C8
x2 M16x255
MIN EMBED
200

EPCON C8
x4 M16x305
MIN EMBED
250

310 UC 96.8 - C19

USBP: 0.02

20
D

R
Y 

PA
C

K

55
PR

O
J.

25
0

EM
BE

D
.

20
0

EM
BE

D
   

  .

29 29

ANCHOR DETAIL
SCALE: 1:7.5

EPCON C8
x2 M16x255
MIN EMBED
200

USBP: 0.02

250 PFC - C9 29

55
PR

O
J.

20
D

R
Y 

PA
C

K

20
0

EM
BE

D
.

F1108  100 x 260    10 PL
C12

34
36

70

4

F1108  100 x 260    10 PL

C13

34
36

70

4

F1081  100 x 260    10 PL

C11

104
46 50

10

F1123  350 x 350    10 PL

F1081  100 x 260    10 PL

C18

C8

75
29 46

50
50

8

10
20

8
70

70

F1081  100 x 260    10 PL

F1123  350 x 350    10 PL

C19

C10

70
70

35
8

10

50
50

8

104 46

F1081  
100 x 260    10 PL

C9

55

75 29 46

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


D

D

C

C

B

B

E

E

A

A

CB

3 3

2 2

A

A

E

E

D

D

C

C

B

B

D
AE

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1014T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:10,1:100,1:7.5 C

Comment
SAMPLE

17/04/2023SAMPLE

MainPart of AssemblyMark ASM Weight
STD METALCRAFT BRIDGE5 3.58
STD METALCRAFT BRIDGE9 3.58
STD METALCRAFT BRIDGE34 6.45

89x89x3.5 SHSC2 27.80
150x150x6.0 SHSC3 133.21
150x150x6.0 SHSC4 150.65
150x150x6.0 SHSC5 150.79

200 UB 22.3C6 130.87
200 UB 22.3C7 131.05
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
250 UC 72.9C17 700.87
360 UB 56.7C20 723.18
410 UB 59.7C21 881.49
530 UB 82.0C32 1017.83
530 UB 82.0C34 1013.39
MSS250/18G8 56.73
MSS200/15G12 43.94
MSS250/18G15 55.29
MSS250/18G22 2.27
MSS250/18G34 19.48
MSS200/15G46 30.63
MSS250/18G79 81.15
MSS250/18G89 50.01
MSS250/18G92 50.01
MSS300/15G99 41.89

150x150x12 EAPA1 4.02

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

BASEPLATE LAYOUT
COLUMN CENTERS & MAIN PART NUMBER 
SCALE: 1:100
RL: +7mtr

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

CAST IN DETAIL
SCALE: 1:10

CAST IN DETAIL
SCALE: 1:10

CAST IN DETAIL
SCALE: 1:10

ANCHOR DETAIL
SCALE: 1:7.5

ANCHOR DETAIL
SCALE: 1:7.5

EPCON C8
x4 M12x160
MIN EMBED
130

USBP: 7

150x150x6.0 SHS - C3

+7

30
PR

O
J.

13
0

EM
BE

D
.

USBP: 7
EPCON C8
x2 M16x165
MIN EMBED
130

200 UB 22.3 - C6

35
PR

O
J. 12

13
0

EM
BE

D
.

USBP: 7

EPCON C8
x2 M16x165
MIN EMBED
130

200 UB 22.3 - C7

35
PR

O
J.

13
0

EM
BE

D
.

5

F1101  275 x 375    10 PL

C3
5050 85

18
5

50
50

PL2 C17

70
80

EPCON C8
x2 M12x160
MIN EMBED
130

USBP: 7

150x150x6.0 SHS - C4

30
PR

O
J.

13
0

EM
BE

D
.

EPCON C8
x2 M12x160
MIN EMBED
130

USBP: 7

150x150x6.0 SHS - C5

30
PR

O
J.

13
0

EM
BE

D
.

F1101  275 x 375    10 PL

C4

185 5050

50
50

85

F1101  275 x 375    10 PL
C5

5050 185

50
50

85

C6

C15 C17 C21

C7

C16C20

C2

C2

C3

C4 C5

84 2811 6770 9665 9665 6500

25
0

15
0

85
27

32
3

5 2890 6770 9665 9665 3600 2888
12

24
9

25
0

15
0

31
07

31
07

23
87

21
22

9

25
0

PL2 C16

70
80

PL2 C15

70
80

F1116  180 x 250    10 PL

C7

40
40

5

F1116  180 x 250    10 PL

C6 12

40
40

Existing Cast in
150 x 200    25 PL

PL2

C16

M20x55

12 4

PL2

Exsiting Cast in
150 x 200    25 PL

C15

M20x55

12 4

Existing Cast in
150 x 200    25 PL

PL2

C17

M20x55

12 4

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


1

1

A

A

3

3

AA

3

A

A

4

4

3

3

2

2

1

1

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1015T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:15,1:7.5,1:75 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE3 3.59
STD METALCRAFT BRIDGE5 3.58
STD METALCRAFT BRIDGE7 3.58
STD METALCRAFT BRIDGE8 3.58
STD METALCRAFT BRIDGE14 3.59
STD METALCRAFT BRIDGE30 2.89
STD METALCRAFT BRIDGE43 3.58
STD METALCRAFT BRIDGE44 2.88

200x200x6.0 SHSB1 349.60
200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB13 350.27
200x200x6.0 SHSB15 345.39

250 PFCB20 219.30
300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

310 UB 46.2B26 402.80
310 UC 118B27 2118.89
460 UB 82.1B29 1345.31
460 UB 82.1B35 1640.34
460 UB 82.1B36 264.45

200x200x6.0 SHSB39 351.01
75x75x5.0 SHSC1 25.02
89x89x3.5 SHSC2 27.80

200 UB 22.3C7 131.05
250 UB 31.4C14 211.74
360 UB 56.7C20 723.18
460 UB 82.1C24 1228.90
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
530 UB 82.0C33 1004.89
530 UB 82.0C34 1013.39
MSS300/15G1 63.23
MSS200/15G3 20.77
MSS300/15G5 63.23
MSS250/18G8 56.73
MSS250/18G9 10.86
MSS250/18G13 57.61
MSS250/18G17 16.22
MSS250/18G19 42.14
MSS250/18G22 2.27
MSS200/15G26 20.77
MSS200/15G30 12.65
MSS250/18G33 59.02
MSS250/18G34 19.48
MSS250/18G38 13.88
MSS200/15G45 12.25
MSS250/18G51 57.60
MSS250/18G52 56.73
MSS250/18G53 23.25
MSS250/18G54 60.01
MSS250/18G55 60.01
MSS250/18G56 60.00
MSS250/18G57 23.35
MSS250/18G58 49.95
MSS250/18G59 37.47
MSS250/18G60 59.00
MSS250/18G61 59.00
MSS250/18G75 49.96
MSS250/18G76 49.96
MSS250/18G77 59.02
MSS250/18G81 80.64
MSS250/18G82 71.39
MSS250/18G86 10.53
MSS250/18G87 18.98
MSS250/18G88 16.22

42.4x3.2 CHSHD1 99.48
42.4x3.2 CHSHD2 140.51
MSS300/18P1 76.00
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P7 63.22
MSS250/18P8 40.89
MSS250/18P16 54.03
MSS250/18P17 40.89

RB 20RB1 26.40
RB 20RB2 30.25
RB 25RB3 41.27
RB 20RB4 27.03
RB 20RB5 31.04
RB 25RB7 41.09
RB 25RB8 40.66

ReidBrace Set RB25RB9 0.00
RB 25RB11 39.17
RB 20RB13 26.83
RB 20RB14 31.10
RB 20RB15 31.31

ReidBrace Set RB20RB17 0.00
230 PFCSG1 595.18

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

C32 SIMC31 SIM

ELEVATION: GRID: A - EAST 
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:75

+0

1015
A

1015
B

1015
C

1015
D3

3

7

3

7

3
3

7

8

3
30

3
3

7

88

3
3

14
3

8

5
5

44
5

5
5

5
5

5
5

43
5

5

B29

B36
B35

G3

G3

G3

G3

G3

G3

G26 G51

G3

G3

G3 G13

G3

G3

G3

G38

G60

G8

G58

G59

G13

G8

G13

B27

G8

G8

G57

G8

G8

G8

G53

G56

G26

G33

C
14

G8

G54

G13

G52

G55B22

G76B26

B24

G
34

G77

G
34

G33G75

C
34

C
33

C
20

C
7

C
24

C
28

B1

B8

B20

B2

B2

x5 NZ Timber
140H x 45W

B1

B39

B3

C
1

G22
G88

G19

G86

G22

G87

C
2

G
9

C
2 G22

G17

G
9

G
9

G
9

G17

G
9

NZ Timber
140H x 45W

1015
E

G61

1015
F

4°

3°
94485085085011001100

44
13

704 850 850 850 1100 1100

11
83

1

0

11831

72
69

12
00

20
24

0

7269

8469

10493

28
79

5169 6200
631

8857
143

17500 500OPENINGS

296
950 1502 2400 3676 2400 1735 2400 2641

12000 9000 18000

10
70

1

1015 Scale: 1:15
DETAILA

+10.701

G19

B20

C
33

B35

M16x50
8.8

3 - 14ø

12 - 14ø

South

A

A

15
0

25
0

14
01

40

13 142

1015 Scale: 1:15
DETAILB

+10.701

G19

B20

C
34

M16x50
8.8

3 - 14ø

12 - 14ø

15
0

25
0

14
0

14
0

155 8

B3
5

M16x50
8.8

C
33

A - A

96

1015 Scale: 1:15
DETAILC

C
2

M12x45
8.8

B26

1015 Scale: 1:15
DETAILD

G
9

M12x30
4.6

G56

FPL1

M20x65
8.8

P1

B36
P3

P7

C
20

1015 Scale: 1:15
DETAILE

P3

M12x30
4.6

P16

B13

B B
C

C

50

M20x65
8.8

B36

M12x45
8.8 C20

B1
3

B - B

RB-20
RB-20

25
6

M20x65
8.8

B3
6

P3

M12x30
4.6

P7

M12x45
8.8

C
20

B13

G51

G53

C - C

M12x30
4.6

256

PL1

G
81

C
24

M20x55
8.8

G5

1015 Scale: 1:7.5
DETAILF

84

6

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


2

2

BB

2

4

4

3

3

4

4

3

3

2

2

1

1

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC
D 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1016T.B.C

Biomass

BSW7/03/2023

15/01/2023

1:15,1:7.5,1:75 D

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
200x200x6.0 SHSB1 349.60
200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB6 348.89

300 PFCB7 747.98
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB13 350.27
200x200x6.0 SHSB15 345.39

300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

460 UB 82.1B31 1344.28
460 UB 82.1B34 1597.20
460 UB 82.1B35 1640.34
460 UB 82.1B37 1341.52

200x200x6.0 SHSB39 351.01
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
MSS300/15G1 63.23
MSS300/15G5 63.23
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS300/15G23 27.76
MSS200/15G29 30.52
MSS200/15G46 30.63
MSS200/15G47 30.51
MSS300/15G94 63.23
MSS300/18P1 76.00
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00

80 x 170    10 PLPL4 2.60
RB 20RB1 26.40
RB 20RB2 30.25
RB 25RB3 41.27
RB 20RB4 27.03
RB 20RB5 31.04
RB 25RB7 41.09
RB 25RB8 40.66

ReidBrace Set RB25RB9 0.00
RB 25RB11 39.17
RB 20RB13 26.83
RB 20RB14 31.10
RB 20RB15 31.31

ReidBrace Set RB20RB17 0.00

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

ELEVATION: GRID: B - EAST 
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:75

DETAIL: 460UB 82.1
BWBS 50/25  
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:7.5

460 UB 82.1

M20x70
8.8/TB

460 UB 82.1

M20x70
8.8/TB

460 UB 82.1
M20x70
8.8/TB

M20x50
8.8/TB

460 UB 82.1

B34

C
16

C
27

C
23

2x B2

B6

2x B1

B15

2x B1
2x B39

2x B3

B37

+0

1016
A

1016
B

1016
C

South

12000 9000 18000

40 460 11500 9000 17500 460 40

17123
CRANE RAIL CENTERS

92
74

0

9274

M12x50
8.8

PL4
M12x45
8.8

C
16

B7

1016 Scale: 1:15
DETAILA

+9.274

254 123

127

PL4

M12x30
4.6

M12x50
8.8

M12x45
8.8

C
27

2x G5

B7

1016 Scale: 1:15
DETAILB

+9.274

750

460 40

B34

M20x65
8.8

1016 Scale: 1:15
DETAILC

B5

A A

M20x65
8.8

B5

B34

B8

A - A

RB 20

RB 20

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


3

3

CC

3

3

3

CC

3

4

4

3

3

2

2

1

1

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1017T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:15,1:75 C

Comment
SAMPLE

17/04/2023SAMPLE

MainPart of AssemblyMark ASM Weight
200x200x6.0 SHSB1 349.60
200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB6 348.89

300 PFCB7 747.98
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB15 345.39

300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

460 UB 82.1B30 1341.52
460 UB 82.1B33 1597.20

200x200x6.0 SHSB39 351.01
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
460 UB 82.1C23 1220.21
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
MSS300/15G1 63.23
MSS300/15G5 63.23
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS300/15G24 27.98
MSS300/15G94 63.23
MSS300/15G96 63.23
MSS300/15G100 58.02
MSS300/18P1 76.00
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00

150x150x12 EAPA1 4.02
80 x 170    10 PLPL4 2.60

RB 20RB1 26.40
RB 20RB2 30.25
RB 25RB3 41.27
RB 20RB4 27.03
RB 20RB5 31.04
RB 20RB6 31.14

ReidBrace Set RB25RB9 0.00
RB 25RB10 40.90
RB 25RB11 39.17
RB 25RB12 40.71
RB 20RB16 30.99

ReidBrace Set RB20RB17 0.00

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

ELEVATION: GRID: C - EAST 
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:75

B33

B30

B23 B25

C
15

C
26

C
30

2x B2

2x B5

2x B1

B2

2x B1

2x B3

2x B39
1017
A

+7

+0

1017
B

South

B

B
C

C

12000 9000 18000

40 460 11500 9000 17500 460 40

M20x65
8.8 2x P1C15

2x P3

C
15

1017 Scale: 1:15
DETAILA

2x B6

A A

M20x65
8.8

C15

C15

B6
B6

RB 20

RB 20

A - A

B33

M12x30
4.6

B - B

P1P1

10
0

B30

M12x30
4.6

C - C

P1 P1

50

2x G12

M20x55
8.8

M12x30
4.6

PL
2

C
15

1017 Scale: 1:15
DETAILB

D D

ALL PA1
Installed by
others

M20x55
8.8

PL2

Exsiting Cast in
150 x 200    25 PL

C15

D - D

G
12

G
12

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/
AutoCAD SHX Text
PL3 TO CAS-IN PLATE

AutoCAD SHX Text
PL3 TO CAS-IN PLATE



D

D

D

D

DD

4

4

DD

4

4

4

3

3

2

2

1

1

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1018T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:15,1:75 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE7 3.58
STD METALCRAFT BRIDGE8 3.58
STD METALCRAFT BRIDGE54 3.94

200x200x6.0 SHSB1 349.60
200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB6 348.89
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB9 238.37
200x200x6.0 SHSB10 232.76
200x200x6.0 SHSB11 237.15
200x200x6.0 SHSB12 240.60
200x200x6.0 SHSB14 240.39
200x200x6.0 SHSB15 345.39

250 PFCB17 263.66
250 PFCB18 293.70
300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

460 UB 82.1B31 1344.28
460 UB 82.1B32 1580.19
460 UB 82.1B37 1341.52

200x200x6.0 SHSB39 351.01
250 PFCC8 133.38
250 PFCC9 227.74
250 PFCC10 227.74
250 PFCC11 144.24

250 UC 72.9C17 700.87
310 UC 96.8C18 1097.59
310 UC 96.8C19 1067.38
460 UB 82.1C23 1220.21
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
MSS300/15G1 63.23
MSS200/15G2 29.45
MSS200/15G4 12.01
MSS300/15G5 63.23
MSS250/18G9 10.86
MSS250/18G10 5.89
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS250/18G17 16.22
MSS200/15G25 29.45
MSS200/15G27 12.00
MSS250/18G32 32.94
MSS250/18G37 10.24
MSS250/18G38 13.88
MSS300/15G40 41.89
MSS200/15G48 5.61
MSS200/15G49 5.56
MSS250/18G62 45.55
MSS250/18G63 14.01
MSS250/18G64 45.54
MSS250/18G65 45.55
MSS250/18G66 24.00
MSS250/18G67 50.01
MSS250/18G68 18.86
MSS250/18G69 52.36
MSS250/18G70 52.52
MSS250/18G71 52.52
MSS250/18G72 22.97
MSS250/18G80 71.25
MSS250/18G85 16.00
MSS250/18G89 50.01
MSS250/18G90 2.02
MSS250/18G91 16.66
MSS250/18G92 50.01
MSS250/18G93 50.01
MSS300/15G96 63.23
MSS300/15G98 41.89
MSS300/15G99 41.89
MSS300/15G101 4.40
MSS300/18P1 76.00
MSS200/18P2 35.37
MSS300/18P3 75.99
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P7 63.22
MSS200/18P9 35.38
MSS200/18P10 35.36
MSS200/18P11 35.37
MSS200/18P13 35.37
MSS250/18P14 42.92
MSS250/18P18 58.28
MSS300/18P19 50.60

RB 20RB1 26.40
RB 20RB2 30.25
RB 25RB3 41.27
RB 20RB4 27.03
RB 20RB5 31.04
RB 20RB6 31.14

ReidBrace Set RB25RB9 0.00
RB 25RB10 40.90
RB 25RB11 39.17
RB 25RB12 40.71
RB 20RB16 30.99

ReidBrace Set RB20RB17 0.00

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

ELEVATION: GRID: D - EAST 
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:75

1018
D

1018
B 1018

C

7
8

8

7

7

8

B32

B31

G4

G4

G4

G27

G4

G27

G4

G4 G66

G32

G32

G64

G62G63

G65

G4

G4

G4

G4

G70

G68

G89

G71

G69

G72

G4

B23 B25

G
80

C
29

C
17

C
25

C
18

B10

C
19

C
8

C
10

B9
B11

C
11

B14

C
9

B17

B12

B18

G
37

G
48

G
9

G85
G17

G38

G
37 G
49

G17 G
9

54

G
90

G
91

NZ Timber
240H x 45W

G10

G10

G67

G10

G10

G10

1018
E

1018
F

G92

G93

1018
G

PL6

PL6 PL6 PL6

South

2419

63
26

2748 2400 2852 2400 2559 2400 2641

37
0041

93
25

56
50

0
12

00

0

4193

6749
7249

8449

12000 9000 18000

40
460

11500 9000 1129
90

6201
90
90

305
2588

305
240

90
6201

90
80

460
40

G10

G67

M12x45
8.8

B18

C
11

1018 Scale: 1:15
DETAILB

+3.7

3 - 14ø

1 - 14ø

G93B B

15
0

25
0

14
0

14
0

7115
G67

M12x40
8.8

M12x45
8.8

C
18

B18

C
8

G4

G4

1018 Scale: 1:15
DETAILC

+3.7

1 - 14ø

3 - 14ø

G93

15
0

25
0

14
01

40

10213

M12x40
8.8

M12x45
8.8

C
19

B17

C
10

G62

G4

G4

1018 Scale: 1:15
DETAILD

1 - 14ø

3 - 14ø

+6.326

13102

15
0

25
0

14
0

14
0

M12x45
8.8

C
25

B17

C
9

G62

G
80

1018 Scale: 1:15
DETAILE

+6.326

3 - 14ø

1 - 14ø

A AC

C

15
0

25
0

14
01

40

97
0

115 7

M12x30
4.6

P7

B31G66

1018 Scale: 1:15
DETAILF

D

D

G
10

1

M12x45
8.8

C25

B17

G62 G80

A - A

3 - 14ø

122 554

22
1

15
4

B18

B - B

3 - 14ø

G93

15
4

122

G101

M12x45
8.8

C
25

B17

C
9

G96

G62

G
80

C - C

+6.326

3 - 14ø

34
2

25
0

14
0 14

098

0

342

592
732
872

970

P7

B31

G66

D - D

M12x30
4.6 M12x30

4.6

221

G67

G93

PL6
SPACER PLATE

G
90

G
91

1018 Scale: 1:15
DETAILG

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


E

3

3

EE

3

EE

4

4

3

3

2

2

1

1

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1019T.B.C

Biomass

BSW8/03/2023

15/01/2023

1:15,1:7.5,1:75 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE3 3.59
STD METALCRAFT BRIDGE7 3.58
STD METALCRAFT BRIDGE8 3.58
STD METALCRAFT BRIDGE9 3.58
STD METALCRAFT BRIDGE14 3.59
STD METALCRAFT BRIDGE30 2.89

200x200x6.0 SHSB9 238.37
200x200x6.0 SHSB10 232.76
200x200x6.0 SHSB11 237.15
200x200x6.0 SHSB12 240.60
200x200x6.0 SHSB14 240.39

250 PFCB20 219.30
250 PFCB21 318.67

410 UB 59.7B28 1174.21
200 UB 22.3C6 130.87

250 PFCC12 116.43
250 PFCC13 116.43

410 UB 59.7C21 881.49
410 UB 59.7C22 891.01
530 UB 82.0C31 1009.33
530 UB 82.0C32 1017.83
MSS200/15G2 29.45
MSS200/15G6 12.14
MSS200/15G7 21.02
MSS250/18G14 29.07
MSS250/18G15 55.29
MSS250/18G16 56.16
MSS250/18G18 3.71
MSS250/18G19 42.14
MSS200/15G20 12.24
MSS200/15G21 1.91
MSS200/15G25 29.45
MSS200/15G28 11.63
MSS200/15G31 14.09
MSS300/15G40 41.89
MSS200/15G41 21.01
MSS200/15G42 21.02
MSS200/15G43 21.02
MSS200/15G44 4.11
MSS200/15G50 14.09
MSS250/18G73 55.28
MSS250/18G74 56.16
MSS250/18G78 80.57
MSS250/18G79 81.15
MSS300/15G98 41.89
MSS300/15G99 41.89
MSS200/18P2 35.37
MSS250/18P8 40.89
MSS200/18P9 35.38
MSS200/18P10 35.36
MSS200/18P11 35.37
MSS200/18P13 35.37
MSS250/18P14 42.92
MSS250/18P15 56.82
MSS300/18P19 50.60

GPB250PA2 0.00

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

ELEVATION: GRID: E - EAST 
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:75

DETAIL: 410UB 60
BWBS 30/15  
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:7.5

M20x55
8.8/TB 410 UB 59.7410 UB 59.7

M20x50
8.8/TB

M20x55
8.8/TB

410 UB 59.7
M20x55
8.8/TB410 UB 59.7

3

8

3

9
9

9
9

7
9

9

30
3

3

9

14
3

3
3

3
3

3
3

B28

G50

G31
G21

G21

G31

G21

G7

G7

G7

G7

G15

G43

G
28

G15

G42

G14

G14

G16

G74

G41

G7

G7

G14G
28

G15

G7

G14

G16

G7

G44

G73

G15

G16

G16

G
79

G
78

C
32C

22

C
6

C
31

C
21

x5 NZ Timber
140H x 45W

C
12

B21

C
13

G18

G18

G19

G18

G18

G19

1019
A

1019
B

1019
C

B20

1019
D

South

A A

85
0

12000 9000 18000

40 911 900 3318 6200
631

1000 3100 4900OPENINGS    .

68
5

85
0

20
50

0

2050

29
94

10
70

1

C
13

B21

M12x45
8.8

G73

1019 Scale: 1:15
DETAILA

+2.994

15
0

25
0

14
01

40

13102

C
12

B21

7

M12x30
4.6

M12x45
8.8

G73

1019 Scale: 1:15
DETAILB

+2.994

115 7

15
0

25
0

14
0

14
0

C31

A - A

1 - 14ø

45

89

B21

M12x45
8.8

C
21

G
79

1019 Scale: 1:15
DETAILC

M12x30
4.6

G73

B B

B21

M12x45
8.8

C21

G79

B - B

16
1

89

24
9

P8

B28

C
31

1019 Scale: 1:15
DETAILD

C

C

P8

B2
8

M16x50
8.8 C

31

C - C

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


4

4 4

B

B

4 4
D

D

4 4
A

A

A

4 4
A

A

D

BA

A

A

E

E

D

D

C

C

B

B

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1020T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:15,1:7.5,1:75 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE1 3.58
STD METALCRAFT BRIDGE10 3.58
STD METALCRAFT BRIDGE25 3.98
STD METALCRAFT BRIDGE29 2.88
STD METALCRAFT BRIDGE42 3.58

200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52

300 PFCB7 747.98
200x200x6.0 SHSB15 345.39

250 PFCB17 263.66
300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

310 UC 118B27 2118.89
200x200x6.0 SHSB39 351.01

250 PFCC9 227.74
460 UB 82.1C25 1133.56
460 UB 82.1C26 1150.10
460 UB 82.1C27 1150.10
460 UB 82.1C28 1132.09
MSS300/15G1 63.23
MSS300/15G5 63.23
MSS300/15G23 27.76
MSS300/15G24 27.98
MSS250/18G33 59.02
MSS250/18G38 13.88
MSS300/15G39 16.46
MSS250/18G60 59.00
MSS250/18G61 59.00
MSS250/18G62 45.55
MSS250/18G64 45.54
MSS250/18G65 45.55
MSS250/18G77 59.02
MSS250/18G80 71.25
MSS250/18G82 71.39
MSS300/15G94 63.23
MSS300/15G96 63.23
MSS300/15G97 5.88
MSS300/15G100 58.02
MSS300/15G101 4.40
MSS300/18G102 12.69
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P7 63.22

80 x 170    10 PLPL4 2.60
RB 20RB5 31.04
RB 25RB8 40.66

ReidBrace Set RB25RB9 0.00
RB 25RB11 39.17
RB 25RB12 40.71
RB 20RB16 30.99

ReidBrace Set RB20RB17 0.00

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

ELEVATION: GRID: 4 - SOUTH 
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:75

29
1

1
1

1
1

1
1

1
1

1

42
1

29
1

1

1
1

1

1
1 1

1
1

1010
1 1

1
1

C
27

C
25

C
26

G1

G1

G1

G5

G1

G5

G1

G1G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G96

G1

G1

G1

G1

G94

G1

G1

G23

G1

G1

G23

G96

G1

G
39

G
39

G24

G97

G24

G
80

B2B2 B15

B3 B3B3

G
82

G
10

2

G100
G101

1020
A

1020
B

1020
C

G5

G1

G23

G24

B17

C
9

RB 25CUT - 10566

RB 25CUT - 10164

RB 25

CUT - 10164

RB 25CUT - 10551

RB 25CUT - 10164

RB 25

CUT - 1
0566

RB 25

CUT - 1
0551

RB 25

CUT - 10164

1020
D

+0

West

E

E

4367 900 4398 9511 250

59
84

97
0

0

5984

6954

9665 9665 9665 6500

20
50

679

B3

M20x65
8.8

G
82

M12x30
4.6

M12x30
4.6

C
28

P5

1020 Scale: 1:15
DETAILA

P6

P7

RB 25

RB5

A A

C
27

1020 Scale: 1:15
DETAILB

B15

M20x65
8.8

B2

RB 25

RB 25

D D

M12x30
4.6

C
25

G1

G
80

1020 Scale: 1:15
DETAILC

RB 25

C
9C C

G82

P7

M12x30
4.6

C28

B3

M20x65
8.8

RB 20

A - A
PURLINS OMITTED 
FOR CLARITY

RB 25

G
82

C
28

1020 Scale: 1:15
DETAILD

B2

M16x60
8.8

RB 25

RB 25

B27

B B

M20x65
8.8

B2

G82

M16x60
8.8

C28

RB 25

B - B

20
0

24
46

PL
1

C25

M20x55
8.8

G1

RB 25

G80

C - C

B15

M20x65
8.8

B2

C27

RB 25

D - D

B3

M12x30
4.6

P5

P4

25

M12x30
4.6

P6

E - E
SIM GRID:1

GALV 3mm 
STEEL x7 500x50 STRIPS  
PER BAY EVENLY SPACED,
TEK SCREWED BETWEEN
PURLINS 

500

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


33

A

A

3

3

3

3

33

A

CD

D

33

3

A

A

E

E

D

D

C

C

B

B

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1021T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:15,1:7.5,1:75 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE15 3.79
STD METALCRAFT BRIDGE17 5.07
STD METALCRAFT BRIDGE18 5.73
STD METALCRAFT BRIDGE19 5.40
STD METALCRAFT BRIDGE20 1.82
STD METALCRAFT BRIDGE26 1.68
STD METALCRAFT BRIDGE45 1.70
STD METALCRAFT BRIDGE51 5.06
STD METALCRAFT BRIDGE52 5.72
STD METALCRAFT BRIDGE53 5.39

200x200x6.0 SHSB6 348.89
300 PFCB7 747.99

200x200x6.0 SHSB13 350.27
200x200x6.0 SHSB14 240.39

250 PFCB18 293.70
300 PFCB22 755.90
300 PFCB23 755.25
300 PFCB24 755.25
300 PFCB25 755.25

310 UB 46.2B26 402.80
310 UC 118B27 2118.89
460 UB 82.1B36 264.45

150x150x6.0 SHSC3 133.21
250 UC 72.9C15 697.56
250 UC 72.9C16 697.56
250 UC 72.9C17 700.87
360 UB 56.7C20 723.18
410 UB 59.7C21 881.49
MSS200/15G6 12.14
MSS250/18G8 56.73
MSS250/18G10 5.89
MSS200/15G11 43.94
MSS200/15G12 43.94
MSS250/18G13 57.61
MSS250/18G22 2.27
MSS200/15G29 30.52
MSS250/18G34 19.48
MSS250/18G35 57.47
MSS250/18G36 56.96
MSS300/15G40 41.89
MSS200/15G46 30.63
MSS200/15G47 30.51
MSS250/18G51 57.60
MSS250/18G52 56.73
MSS250/18G53 23.25
MSS250/18G54 60.01
MSS250/18G55 60.01
MSS250/18G56 60.00
MSS250/18G67 50.01
MSS250/18G68 18.86
MSS250/18G69 52.36
MSS250/18G70 52.52
MSS250/18G71 52.52
MSS250/18G72 22.97
MSS250/18G79 81.15
MSS250/18G83 57.47
MSS250/18G84 56.96
MSS250/18G87 18.98
MSS250/18G89 50.01
MSS250/18G92 50.01
MSS250/18G93 50.01
MSS300/15G98 41.89
MSS300/15G99 41.89

42.4x3.2 CHSHD1 99.48
42.4x3.2 CHSHD2 140.51
MSS300/18P1 76.00
MSS300/18P3 75.99
MSS250/18P7 63.22
MSS200/18P9 35.38
MSS200/18P13 35.37
MSS250/18P14 42.92
MSS250/18P15 56.82
MSS250/18P18 58.28

150x150x12 EAPA1 4.02
80 x 170    10 PLPL4 2.60

RB 20RB6 31.14
RB 20RB14 31.10
RB 20RB15 31.31

ReidBrace Set RB20RB17 0.00
230 PFCSG1 595.18

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

ELEVATION: GRID: 3 - NORTH 
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:75

T.O.S

53

18

19
17

18

51 17

1852

19

17
19

C
21

C
20

C
15

C
17

B13B14 B6 B6

G6

G6

G6

G6

G6

G6

G6

G6

G
79

G11

G29G11

C
3

G11

G11

G98

G29

G12 G46

G12 G12

G12G99

G40
G47

G40

1021
A

1021
B

1021
C

C
16

B7B23 B22

1021
D

1021
E

1021
F

+0

+7

G92

G93

H
D

2

East

A

A

6500 9665 9665 9665

20
0 68

5
85

0
85

0
85

0
75

9
94

1
85

0

0
200

884

1734

2584

3434

4193

5134

5984

TO
P 

O
F 

G
IR

T 
   

.

37
55

0

3755

AN
C

H
O

R

70
00

M12x30
4.6

B14

P14 P9

P13

45

M12x30
4.6

A - A
SIM GRID: 1

GALV 3mm 
STEEL x6 360x50 STRIPS  
PER BAY EVENLY SPACED,
TEK SCREWED BETWEEN
PURLINS 360

G40 PL3
M12x30
4.6

1021 Scale: 1:15
DETAILA

B B

G40 PL
3

M12x30
4.6

B - B

G
36

10
1

NZ Timber
240H x 45W

M12x30
4.6

G6

1021 Scale: 1:15
DETAILB

C C

EPCON C8
x2 M12x185
MIN EMBED
150

1021 Scale: 1:15
DETAILC

B18
+3.755+3.79

4199

PL4

M12x45
8.8

C
15

B7B23

1021 Scale: 1:15
DETAILD

D

D

C3

P1

B13

1021 Scale: 1:15
DETAILE

M12x45
8.8

P3
E

E

M16x45
8.8

C
20

B27

1021 Scale: 1:15
DETAILF

M16x50
8.8

G
34

SG1

F F

NZ Timber
240H x 45W

M12x30
4.6

G6

C - C

METALCRAFT
GPB200
SCREWED TO TIMBER

10
1

M12x50
8.8

PL4

M12x45
8.8

C
15

B7

D - D

C
3

P1

M12x45
8.8

P3

B13

E - E

447

M16x45
8.8

M16x50
8.8

C20

B2
7

G34

B2
6

F - F

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/
AutoCAD SHX Text
B16 TO B27TYPICAL FLANG

AutoCAD SHX Text
B16 TO B27TYPICAL FLANG



A

A

E

E

22

C

C

22

E

E

22

E

E

22

2

2

C
E

E

A

A

E

E

D

D

C

C

B

B

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1022T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:15,1:75 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE16 1.70
STD METALCRAFT BRIDGE21 4.48
STD METALCRAFT BRIDGE22 2.70
STD METALCRAFT BRIDGE46 4.49
STD METALCRAFT BRIDGE47 1.74
STD METALCRAFT BRIDGE48 2.71

200x200x6.0 SHSB5 349.60
200x200x6.0 SHSB8 353.04
200x200x6.0 SHSB12 240.60

250 PFCB21 318.67
310 UB 46.2B26 402.80
410 UB 59.7B28 1174.21
460 UB 82.1B32 1580.19
460 UB 82.1B33 1597.20
460 UB 82.1B34 1597.20
460 UB 82.1B35 1640.34

150x150x6.0 SHSC4 150.65
150x150x6.0 SHSC5 150.79

200 UB 22.3C6 130.87
200 UB 22.3C7 131.05
530 UB 82.0C32 1017.83
530 UB 82.0C34 1013.39
MSS250/18G8 56.73
MSS250/18G13 57.61
MSS250/18G15 55.29
MSS250/18G16 56.16
MSS250/18G18 3.71
MSS200/15G20 12.24
MSS200/15G30 12.65
MSS250/18G35 57.47
MSS250/18G36 56.96
MSS200/15G45 12.25
MSS250/18G51 57.60
MSS250/18G52 56.73
MSS250/18G73 55.28
MSS250/18G74 56.16
MSS250/18G83 57.47
MSS250/18G84 56.96
MSS300/18P1 76.00
MSS300/18P3 75.99
MSS250/18P8 40.89
MSS200/18P10 35.36
MSS250/18P15 56.82
MSS250/18P16 54.03

150x150x12 EAPA1 4.02
GPB250PA2 0.00
RB 20RB2 30.25
RB 20RB4 27.03
RB 20RB13 26.83

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

ELEVATION: GRID: 2 - NORTH 
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:75

T.O.S

T.O.S

C
6

C
7

B5 B8B12

C
34

C
32

B5

G30

G20

G84

G35

G83

G36

C
5

G35

G20

G20

C
4

G36

G30

PA1
INSTALLED 
BY OTHERS

G45

B3
4

B3
2

PA
1

PA
1

PA
1

PA
1

PA1

PA1

PA1

1022
A

1022
B

1022
C

1022
D

+0

+7+7 +7

East

A

A

B BC C
30

49

0

3049

AN
C

H
O

R

6500 9665 9665 9665

44
66

15
0

0

4466
4616

AN
C

H
O

R

20
0

68
5

85
0

85
0

85
0

85
0

85
0

85
0

85
0

0
200
884

1734

2584

3434

4284

5134

5984

6834

TO
P 

O
F 

G
IR

T 
   

.

M12x40
8.8

C
6

B12

1022 Scale: 1:15
DETAILA

M20x65
8.8

P10

B28

P1
5

B2
8

D D
249

B5

P3P3

B3
3

B5

RB 20

1022 Scale: 1:15
DETAILB

M20x65
8.8

E E

C
5

P10

M12x45
8.8

B12

A - A

P10

C5

G20

M12x30
4.6

B - B

G
36

10
0

NZ Timber
140H x 45W

M12x70
4.6

C6

C - C

M12x70
4.6

M12x30
4.6

G
16

C32M20x65
8.8

P8

M12x30
4.6

P10

B2
8

C6

B12

P1
5

D - D

M20x65
8.8

B5

P3
P3

P3P3

B3
3

B5

RB 20

E - E

RB 20

EPCON C8
x2 M12x185
MIN EMBED
150

1022 Scale: 1:15
DETAILC

B21
+3.049 +3.084

106 34 EPCON C8
x4 M16x240
MIN EMBED
200

1022 Scale: 1:15
DETAILD

NZ Timber
240H x 45W

G8

B26

+4.466

+4.616
+4.695

90 38

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


11

E

E

11

A

A

11

C

C

CD

A

A

E

E

D

D

C

C

B

B

Index Date Author Description
A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC
D 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.N=

Architect

W: 3dcad.co.N=
1023T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:15,1:75 D

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE1 3.58
STD METALCRAFT BRIDGE3 3.59
STD METALCRAFT BRIDGE10 3.58
STD METALCRAFT BRIDGE13 2.95
STD METALCRAFT BRIDGE14 3.59
STD METALCRAFT BRIDGE24 2.96
STD METALCRAFT BRIDGE41 2.96
STD METALCRAFT BRIDGE50 3.50

200x200x9.0 SHSB2 493.11
200x200x6.0 SHSB3 350.52
200x200x6.0 SHSB9 238.37
200x200x6.0 SHSB10 232.76
200x200x6.0 SHSB15 345.39
200x200x6.0 SHSB39 351.01

410 UB 59.7C22 891.01
460 UB 82.1C23 1220.21
460 UB 82.1C24 1228.90
460 UB 82.1C29 1206.10
460 UB 82.1C30 1220.21
MSS300/15G1 63.23
MSS200/15G2 29.45
MSS200/15G3 20.77
MSS300/15G5 63.23
MSS200/15G7 21.02
MSS200/15G21 1.91
MSS200/15G25 29.45
MSS200/15G26 20.77
MSS200/15G41 21.01
MSS200/15G42 21.02
MSS200/15G43 21.02
MSS250/18G78 80.57
MSS250/18G81 80.64
MSS300/18P4 76.01
MSS300/18P5 76.00
MSS300/18P6 76.00
MSS250/18P8 40.89
MSS200/18P9 35.38
MSS200/18P11 35.37
MSS250/18P17 40.89
MSS300/18P19 50.60

RB 20RB1 26.40
RB 25RB3 41.27
RB 25RB7 41.09

ReidBrace Set RB25RB9 0.00
RB 25RB10 40.90

ReidBrace Set RB20RB17 0.00

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

NOTE: TREAT ALL DETAILS AS TYPICAL

ELEVATION: GRID: 1 - NORTH 
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:75

1023
A

1023
B

1
1

10

13 13
1

1
1

1
1

1

1
1

1

1

1

1

1

1
1

1
1

1

1
10

1

3
3

14
3

13

3
3

3

10
13

3

1
1

3

1
1

3
3

41

1
1

1
1

1
1

C
24

C
23

C
30

C
22

C
29

G1

G1

G1

G1

G1

G1

G1

B9

B10 G1

G1

B2 B2

G2

G1

G1

G1

G1

G2

G1

G1

G25

G1

G5G5

G1 G1

G1

G1

G1

G1

G2 G1

G2

G1

G1

G5

G1

G5

G1

G2

G2 G1

G2

G5

G1

G2

G5

G1

G2

G1

G1

G2

G2

G1

G1

G2

G1

G1

G
78

B2

B39B39 B39

G
81

G25

RB 25CUT - 10710

RB 25CUT - 10663

RB 25

CUT - 1
0710

RB 25

CUT - 1
0663

RB 25

CUT - 1
0710

RB 25CUT - 10613

RB 25CUT - 10710

RB 25

CUT - 1
0613

East

B BC C

6500 9665 9665 9665

1023 Scale: 1:15
DETAILA

M12x30
4.6

C
29

G1G2

M20x65
8.8

B2B10

RB 25

RB 25

1023 Scale: 1:15
DETAILB

B39B39 M20x65
8.8

C
30

P5P5

G5G5

P6P6

RB 25

A A

C30

RB 20
B39B39 M20x65

8.8

A - A
PURLINS OMITTED
FOR CLARITY

17
0

G81

M12x30
4.6

C24

B - B

256

6

M12x30
4.6

C22G78

C - C

249
6

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/


A

A

A

A

3 3

2 2

A

A

3 3

2 2

A

A
Index Date Author Description

A 1/03/2023 BSW IFA
B 28/03/2023 BSW IFA#2
C 17/04/2023 BSW IFC

Scale

Order
Detailer

Date Name Model DWG -

Project No. Drawing Num.

Status
Engineer Revision Date3DCAD LIMITED

CAD TECHNICIAN

P: 022 306 7505
E: brad@3dcad.co.nz

Architect

W: 3dcad.co.nz
1024T.B.C

Biomass

BSW1/03/2023

15/01/2023

1:33 1/3,1:50,1:7.5 C

Comment
SAMPLE

17/04/2023SAMPLE

Part NameMark ASM Weight
STD METALCRAFT BRIDGE5 3.58
STD METALCRAFT BRIDGE44 2.88

310 UB 46.2B26 402.80
310 UC 118B27 2118.89

75x75x5.0 SHSC1 25.02
89x89x3.5 SHSC2 27.80

360 UB 56.7C20 723.18
530 UB 82.0C34 1013.39
MSS250/18G8 56.73
MSS250/18G22 2.27
MSS250/18G34 19.48
MSS250/18G52 56.73
MSS250/18G58 49.95
MSS250/18G75 49.96
MSS250/18G76 49.96

42.4x3.2 CHSHD1 99.48
42.4x3.2 CHSHD2 140.51

GPB250PA2 0.00
230 PFCSG1 595.18

ALL TIMBER & CONCRETE ONLY DRAWN AS REFERENCE - REFER TO ARCHITECTS & ENGINEERS PLANS FOR FURTHER DETAILS

@A1

3D PERSPECTIVE
MAIN PART NUMBER
SCALE: 1:50

BASEPLATE LAYOUT
COLUMN CENTERS & MAIN PART NUMBER 
SCALE: 1:50

PLAN VIEW
MAIN PART NUMBER & GRIDLINES
SCALE: 1:50

SECTION: 2
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:33 1/3

SECTION: 1
BOLT TYPE & MAIN PART NUMBER
SCALE: 1:33 1/3

C20

C34

C1 C1

SG1

925 393

55
38

34
62

GR2

C1
C1

ALL - GR4
T6 Webforge 
F325M 32x5 - 840x275

GR1

SG1

C20

B26

C34

C2

C2SG1

90
00

2x
 G

34 1024
A

H
D

2
West

44
58

23
0

32

0

4458
4688
4720

1355

B27

1024 Scale: 1:7.5
DETAILA

M12x30
4.6

2x
 G

34

M16x45
8.8

+4.608

256

2x
 C

1

1024
A

1024
B

SG1

HD2

North

23
81

20
77

23
0

32

0

2381

4458
4688
4720

3622
CENTER C1 TO BASEPLATE FRONT

1362 3062 900 3142

SG1

M12x35
8.8

M12x35
8.8

1024 Scale: 1:7.5
DETAILA

GR4
Webforge F325M 
32x5 - 840x275 M16x50

8.8 19
8

275 263

12

2x
 C

1

SG1

M12x35
8.8M16x50

8.8

1024 Scale: 1:7.5
DETAILB

M16x50
8.8

M12x35
8.8

B

B

19
8

SG1

SG1 B - B

GR2 
Webforge F325M (A pattern)
32x5 - 830x1173
NOTE: Webforge stock
mounting clips to be used

75 850 75
32

AutoCAD SHX Text
THESE PLANS &THE DESIGN SHOWN REMAIN THE PROPERTY OF 3DCAD LIMITED & MAY NOT BE COPIED OR DISTRIBUTED WITHOUT PRIOR PERMISSION IN WRITING. 

https://www.3dcad.co.nz/
AutoCAD SHX Text
2

AutoCAD SHX Text
11024

AutoCAD SHX Text
1

AutoCAD SHX Text
1024

AutoCAD SHX Text
B16 TO B27TYPICAL FLANG

AutoCAD SHX Text
B16 TO B27TYPICAL FLANG


	Sheets and Views
	G-1001-C.dwg-A1 Advance Steel
	G-1002-C.dwg-A1 Advance Steel
	G-1003-C.dwg-A1 Advance Steel
	G-1004-C.dwg-A1 Advance Steel
	G-1005-C.dwg-A1 Advance Steel
	G-1006-C.dwg-A1 Advance Steel
	G-1007-C.dwg-A1 Advance Steel
	G-1008-C.dwg-A1 Advance Steel
	G-1009-C.dwg-A1 Advance Steel
	G-1010-C.dwg-A1 Advance Steel
	G-1011-D.dwg-A1 Advance Steel
	G-1012-C.dwg-A1 Advance Steel
	G-1013-C.dwg-A1 Advance Steel
	G-1014-C.dwg-A1 Advance Steel
	G-1015-C.dwg-A1 Advance Steel
	G-1016-D.dwg-A1 Advance Steel
	G-1017-C.dwg-A1 Advance Steel
	G-1018-C.dwg-A1 Advance Steel
	G-1019-C.dwg-A1 Advance Steel
	G-1020-C.dwg-A1 Advance Steel
	G-1021-C.dwg-A1 Advance Steel
	G-1022-C.dwg-A1 Advance Steel
	G-1023-D.dwg-A1 Advance Steel
	G-1024-C.dwg-A1 Advance Steel


